4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,0

A~ 1 nui 3yre+ud [ 25
- po 4138+ 0.0
p1 -34.16 + 0.00

TP delay [ns]

TVC(cbch) (0,0,4

.7 (be+u4 [ 25
- po 4180+ 0.0
pl -34.31+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (O 0,8

©1nuiL4use+u4 / 25
o pO 4238+ 0.0
pl -37.06 + 0.00

TP delay [ns]

TVC(Cbch) (o, O 12

- 1 nug.uaoe+u4 /25
= po 4241% 0.0
p1 -35.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,01

A1 Save+Ud | 25
P e po 4144+ 0.0
pL -34.31% 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

- U 341e+04 / 25
k. pO 4184+ 0.0
p1 -34.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 0,9

T inuz.48e+u4 [ 25
- pO 4240+ 0.0
p1 -35.76 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, O 13

Tinua4ure+ud [ 25
= pO 4254+ 0.0
p1 -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (0,0,2)

- C = 29.26 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,0,6

X~ 1L b3ze+u4 [ 25
Fuee po 4145+ 0.0
[ p1 -34.18+ 0.00

- C =30.09 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 0, 10

1000

- o3 re+U4 [ 25
- pO 4263+ 0.0
[ p1 -35.98:+ 0.00

T g bzze+u4 [ 25
P pO 4177+ 0.0
[ p1 -33.23+ 0.00

TP delay [ns]

TVC(Cbch) (o, 0 14

-1 nug,101e+04 / 25
. pD 4240+ 0.0
[ p1 -34.95 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,3

A~ 1 nuiLso1e+ud / 25
Foe po 4144+ 0.0
pL -33.56+ 0.00

[ C =29.80 [ps/ch]

L

50 100

TP delay [ns]

TVC(c,b ch) (0 0,7

=1 nu gose+ud | 25
Fueee po 4203+ 0.0
pl -34.57 + 0.00

[ C =28.92 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (0, O

T 44::e+u4/25
- pO 4270+ 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0, O 15

-1 nug.quse+ud [ 25
=3 4243+ 0.0
-34.28 + 0.00

[ C=29.17 [ps/ch] ]

PR R SR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,0

X~ 1w 140e+U4 [ 25
[, PO 4183+ 0.0
pl -34.25+ 0.00

TP delay [ns]

TVC(cbch) (01,4

- i 1s8e+u4 / 25
- pO 4208+ 0.0
Pl -34.48+ 0.00

TP delay [ns]

TVC(cbch) (O 1,8

1 nuiLgoge+u4 / 25
- PD 4211+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (0,1,12

T nuiLsU4e+U4 / 25
- PO 4264+ 0.0
pl -37.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,1)

o zse+ud [ 25
e, pO 4192+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(c,b ch) (0 1,5

- nun11ze+04 [ 25
- DU 4216+ 0.0
Pl -3453+0.00

TP delay [ns]

TVC(c,b ch) (0 1,9

T nuig.ayle+ud / 25
- DO 4227+ 0.0
-34.35+ 0.00

 C=29.11 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,1,13

i Lose+ud [ 25
- pO 4270+ 0.0
pl -37.78 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000

2000

TVC(cbch) (0,1,2)

X~ 1w 1s8e+U4 [ 25
[, po 42154 0.0
3 pl 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (0,1,6

1000

- rnuilple+ud / 25
- pO 4230+ 0.0
3 pl -35.26+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 1 10

TN f (oe+u4 [ 25
- DO 4245+ 0.0
I pl -35.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,1,14

1000

T inuiLb1ye+ud /25
= PD 4254+ 0.0
F pl -36.82 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,3

AT 1nuiLz3se+u4 | 25
- PO 42155 0.0
pl -36.11+ 0.00

TP delay [ns]

TVC(c,b ch) (0 1,7

- nun Z18e+u4 / 25
- PO 4232+ 0.0
Pl -34.49: 0.00

[ C =29.00 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, l

AL bsze+u4/25
- p0 4244+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (0,1,15

T blre+u4 /25
- pO 4263+ 0.0
pl -36.93 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,0

A7 1 nuia45e+04 /25
P, po 4201+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (02,4

T 1.33e+04 [ 25
- pO 4184+ 0.0
pl -35.67:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

T LY ze+u4 [ 25
= po 4227+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (0,212

~rnuizyove+ud | 25
= po 4245+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1

AT 1L syse+ud [ 25
., po 4196+ 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,5

-1 nu 381e+u4 / 25
pO 4203 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

T inu.zy1e+ud [ 25
po 4259+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (0,213

T nuip43e+u4 / 25
pO 4229+ 0.0
pl -36.75+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,2,2)

A7 1 nui Sove+ud / 25
. po 4211+ 0.0
L pl -35.81+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

-1 bsze+u4 [ 25
- pO 4201% 0.0
3 pl -36.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

~nuizyule+ud | 25
-, po 4260+ 0.0
- pl -36.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,214

T bsze+u4 [ 25
-, pD 4245+ 0.0
L pl -37.09 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3

AT 1L ssye+ud [ 25
- po 4220+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,7

-1 nui /8oe+u4 / 25
- pO 4228+ 0.0
pL -37.16+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

T dbie+l}4/25
- po 4258+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(C, bch) (0,215

T inui glae+ud [ 25
= pO 4244+ 0.0
p1 -36.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0

A7 nui 3s0e+U4 /25
P po 4200+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (0,34

- rnunLQu3e+ud / 25
4188+ 0.0
-34.8+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (O 3,8

T 3.z1e+u4 /25
= pO 4221+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(cbch) (0,312

~ 1L 4ope+u4 / 25
= po 4257+ 0.0
pl -36.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1

AT 1 nunLzzoe+ud [ 25
P po 4199+ 0.0
pl -34.98 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,5

=1 nui 3ybe+u4 [ 25
e, pO 4193 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

T nu, 718e+U4 / 25
= po 4236+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (0,3,13

~ 1 nuiLagse+ud / 25
= pO 4248+ 0.0
-35.16 + 0.00

TP delay [ns]

4000

2000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,3,2)

1000

AT inui L rse+V4 /25
-, po 4211+ 0.0
L pl -36.11 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,36

S rnun1ye+ud [ 25
4211+ 0.0
-36.71+ 0.00

TP delay [ns]

TVC(cbch) (0, 3 10

©1nuz.40ze+04 [ 25
- po 4246+ 0.0
- pl -35.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,3 14

T i suze+ud | 25
- pD 4268+ 0.0
L pl -36.27 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3

AT 1 nuiLouve+ud [ 25
pm-, po 4224+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,7

- 1nui b3/e+u4 / 25
- pO 4224+ 0.0
p1 -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 3

T, /b/e+U4/25
- po 4255+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(C, bch) (0,3,15

T nuia3ye+ud [ 25
- pO 4263+ 0.0
p1 -35.27 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0)

AT onun 1 re+ud /25
.. po 4203+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (04,4

-1 4aze+04 25
= pO 4199 0.0
pl -36.39+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

©rnuiLyose+u4 / 25
- po 4220+ 0.0
p1 -34.92 + 0.00

TP delay [ns]

TVC(cbch) (0,4,12

T i, ruze+u4 | 25
4227+ 0.0
-36.41+ 0.00
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1

AT 1 nuLozse+ud [ 25
P, po 4183+ 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

- rnuiL513e+04 / 25
== po 4202+ 0.0
pl -36.82 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

T nuign3ae+u4 / 25
- pO 4234+ 0.0
p1 -34.96 £ 0.00

TP delay [ns]

TVC(cbch) (0,4,13

Tinuiagie+ud [ 25
= pO 4235+ 0.0
pl -36.35+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,4,2)

AT 1nuiLorze+V4 /25
po 4219+ 0.0
p1 -38.04 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (04,6

- i bB3e+u4 / 25
pO 4223+ 0.0
pl -37.91 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

T z0ze+u4 /25
. po 4257+ 0.0
- pl -35.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,4,14

T i, r94e+04 [ 25
- pD 4226+ 0.0
L p1 -36.64 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3)

AT 1L ssoe+u4 [ 25
- po 4226+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

-1 nuiLayle+ud | 25
= po 4217+ 0.0
pl -37.15+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

T, //4e+u4/25
- po 4265+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

T inai/1oe+ud [ 25
4235+ 0.0
-37.41+ 0.00

50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,0)

A1

1ooe+U4 /25
4176+ 0.0
-36.64 + 0.00

TP delay [ns]

TVC(cbch) (0,5,4

18be+u4 / 25
4190+ 0.0
-35.18 + 0.00

— po,..u.l
pl
e ]
% T
TP delay [ns]
TVC(cbch) (O 5,8
g pD

1 nuiLyoye+u4 | 25
4181+ 0.0
-34.42+ 0.00

p1

TP delay [ns]

TVC(cbch) (0,5,12

= po
p1

T Lo /e+u4 / 25
4194+ 0.0
-34.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,51)

. p0

pl

AT rnuzuize+ud [ 25
4175+ 0.0
-37.55+ 0.00

TP delay [ns]

TVC(c,b ch) (0 55

pO

pl

-1 nui z41e+04 / 25
4180+ 0.0
-36.11 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0 59

T a4 8e+04 25
4201+ 0.0
-35.36 + 0.00

TVC(cbch) (0,5,13

TP delay [ns]

Tinaiaz/e+ud [ 25
4200+ 0.0
-34.55+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,5,2)

=, po

AT 1 nuizsye+ud [ 25
4181+ 0.0
-36.71+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,56

pO
p1

= 1 nurLUpYe+u4 / 25
4190+ 0.0
-35.92 + 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

= pO

© 1L yz4e+u4 | 25
4222+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(cbch) (0,5,14

- DD
pl

©1nuiL4se+u4 [ 25
4203+ 0.0
-35.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,3)

1uie+ud / 25
4183+ 0.0
-36.14 + 0.00

PSS

e po
pL

TP delay [ns]

TVC(c,b ch) (0 57

RRAITIS

1/9e+U4 /25
4201+ 0.0
-33.8+ 0.0

[ C =29.59 [ps/ch]

_L

1
50 100

TP delay [ns]

TVC(c,b ch) (0,5, 1

X~ g,

= po
pl

/4ue+u4 125
4217+ 0.0
-34.67 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,15

== pO

-1 nui boe+ud / 25
4202+ 0.0
-35.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0

A7 1 nui oyoe+ud / 25
., po 4205+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(cbch) (06,4

- rnuiLa18e+04 / 25
pO 4193+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

1z gsze+04 | 25
po 4211+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (0,6,12

© L yase+u4 | 25
pO 4222+ 0.0
pl -34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1)

“ o 4ye+ud [ 25
Fee,, pO 4196+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

- 1 nuiL.4ue+U4 | 25
= pO 4177+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

TinuiL1s/e+U5/ 25
= pO 4226+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(cbch) (0,6,13

T inai/44e+04 [ 25
= pO 4215+ 0.0
pl -35.07 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

AT 1nunz1se+04 /25
o=, po 4201+ 0.0
L pl -35.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

~ i, 754e+04 [ 25
4196+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (0, 6 10

1000

0

T nug by re+u4 [ 25
- po 4251+ 0.0
- pl -37.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

T nuiLp3se+ud / 25
- pD 4219+ 0.0
[ p1 -35.75+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3)

T nun La4e+04 [ 25
poee, pO 4218+ 0.0
pl -36.22+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

- 11U bbbe+u4 / 25
- pO 4193+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

AR au=e+u4/25
- pO 4264+ 0.0
p1 -37.43+ 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

T 1nuia4ae+04 /25
- po 4220+ 0.0
p1 -35.48 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,7,0)

e po

AT nun 3rse+ud /25
4200+ 0.0
pl -37.37 + 0.00

TP delay

TVC(cbch) (0.7,4

[ns]

T rnuLyu/e+ud / 25
4220+ 0.0
pl -35.37 + 0.00

- pO
- C N
1 1 -
50 100
TP delay [ns]
TVC(cbch) (0,7,8)
© 1 nuz pyge+ud / 25
= po 4234+ 0.0
pl -36.56 + 0.00

TP delay

TVC(cbch) (0,7,12

[ns]

T L plse+u4 / 25
4220+ 0.0
-34.47 + 0.00

[ C =29.01 [ps/ch]

PR B SRS |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,1)

. PO

A 1L 4use+ud [ 25
4211+ 0.0
-37.67 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (0 7,5

=1 Ui Bube+u4 / 25
4223+ 0.0
-36.04 + 0.00

Fee. pO
pL
e -
| -
50 100
TP delay [ns]

TVC(c,b ch) (0 7,9

T nu szbe+u4 [ 25
4242+ 0.0
-36.65 + 0.00

TP delay [ns]

TVC(cbch) (0,7,13
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

[ C =28.54 [ps/ch

AT rnuz.2use+ud [ 25
P po 4208+ 0.0
p1 -35.04 + 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

“nan1.44e+04 /25
- po 4241+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

T, Ub/e+U4/25
- po 4280+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(C, bch) (1,5,15

Tonaizg/e+ud [ 25
- pO 4255+ 0.0
p1 -35.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0

K™ 1o ssse+U4 [ 25
- Y 4192+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (1,64

-1 ba1e+04 / 25
[, pO 4219+ 0.0
pl -36.71+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 6,8

-1 nu s8ye+u4 [ 25
- pO 4220+ 0.0
pl -34.76 + 0.00

TP delay [ns]

TVC(cbch) (1,6,12

- LY1e+ud [ 25
P pO 4230+ 0.0
pl -37.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

=, po

AT 1 nuiLbzoe+ud [ 25
4196+ 0.0
-36.58 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (1, 6

S nun1b1e+04 /25
DU 4216+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

== pO

-1 nub.yuse+ud / 25
4239+ 0.0
-35.18 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,6,13

T nui s4ye+ud |/ 25
4227+ 0.0
-36.38 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,2)

- C = 26.74 [psic .

1
50 100

TP delay [ns]

TVC(cbch) (16,6

X~ 1w 1 ye+ud [ 25
- po 4203 0.0
I pl -37.4+ 0.0

3000

T 1 r3e+u4 /25
- pO 4219+ 0.0
3 PL_ 3562+ 0.00

TP delay [ns]

TVC(cbch) (1, 6 10

- 90

1 nuizyr4e+u4 [ 25

pl -34.97 + 0.00

4255+ 0.0

TP delay [ns]

TVC(cbch) (1,614

1nuiLyse+u4 [ 25

F PD 4220+ 0.0
I pl -36.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

[, po

AT 1L bobae+ud [ 25
4211+ 0.0
-35.83+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (1 6,7

E po
pl

-1 nui 443e+04 / 25
4218+ 0.0
-35.06 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

SRR a55e+u4/25

4245+ 0.0
-34.65+ 0.00

[ C =28.86 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (1,6,15

-1 nui yyoe+ud / 25
4212+ 0.0
-36.12+ 0.00

TP delay [ns]



TVC(cbch) (1,7,0)

3000

2000

1000

AT inuiazie+04 /25
4000 e ” po 4184+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (17,4

3000

2000 [~

1000 [~

T 3z/e+u4 [ 25
4000 f pO 4195+ 0.0
p1 -36.74+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(1,7,8

4000 [,

3000

2000

1000

T nuig.0yse+u4 / 25
po 4218+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (1,7,12

4000

3000

2000

1000

~1nuiL440e+04 / 25
4226+ 0.0
-35.4+ 0.0
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,1)

X- 1L dzve+ud [ 25
e po 4201% 0.0
p1 -36.27 £ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

S nuiLagse+ud [ 25
== po 4194+ 0.0
pl -36.51+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 7

T 7.39e+04 [ 25
= po 4219+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (1,7,13

T nuigo1e+ud / 25
— pO 4228+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,7,2)

AT 1nui3s1e+04 /25
= po 4194+ 0.0
L pl -35.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

-1 nuiL bb4e+ud / 25
- pO 4238+ 0.0
3 pl -36.94 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

1 nuiz.4npe+04 / 25
o=, po 4227+ 0.0
L pl -35.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T rnuiLg1ve+u4 [ 25
- pD 4222+ 0.0
L pl -35.39+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

AT 1L oyoe+ud [ 25
P po 4211+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

Ui gore+ud | 25
= po 4220+ 0.0
pl -37.22+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 7

1)
T nuiz 1Z0e+04 / 25
= po 4238+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(C, bch) (1,7,15

T nuiazoe+ud [ 25
4230+ 0.0
-35.6 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

K™ 1 nuioyie+ud /25
P po 4173+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (1,84

S i 1z7e+04 /25
== po 4212+ 0.0
pl -37.77 + 0.00

TP delay [ns]

TVC(cbch) (1 8,8

T LY roe+u4 [ 25
= po 4203+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (1,812

T L rse+u4 /25
= po 4238+ 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

X- 1w 7 sae+U4 | 25
oo, po 4200+ 0.0
pL -37.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

= 1 nui 0ape+ud / 25
== po 4203+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

-1 nub.4upe+u4 | 25
= po 4230+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(cbch) (1,813

T inui s3se+ud 25
= pO 4220+ 0.0
pl -35.22+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

AT gre+04 /25
- po 4203+ 0.0
L p1 -36.6 + 0.0

3000

TP delay [ns]

TVC(cbch) (1,86

-1 nuiL45ze+04 [ 25
- pO 4207+ 0.0
3 pl -36.98+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

©1nuiz.4u4e+04 | 25
= po 4241+ 0.0
L pl -36.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,814

T 1nuiLpole+u4 / 25
- pD 4236+ 0.0
[ p1 -36.98 + 0.00

3000
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

AT rnuiLbzie+ud [ 25
- po 4207+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

= 1 nui 3vse+ud | 25
= po 4208+ 0.0
pl -37.09 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

AN uz4e+u4/25
= po 4235+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

71 nui pbae+ud / 25
e pO 4237+ 0.0
p1 -35.78 + 0.00

TP delay [ns]



TVC(CbCh)(190) TVC(CbCh)(lQl) TVC(CbCh)(192) TVC(CbCh)(193)
X~ 1 s b 1e+U4 1 25 X~ w4 e+0a 1 25 X~ 7206+ 1 25 X~ 1w 7o re+04 1 25
4000 e ” 00 41944 00 4000 fam, po 4204 0.0 4000 po 4200+ 0.0 4000 p0 4233£ 00
pl_ -36.07% 0.00 Pl 3579+ 0.00 I PL_ -36.17+0.00 plL_ -33.01% 0.00

3000

- 3000 -1 3000 -1 3000 -

2000 1 2000 -1 2000 -1 2000

1000 — 1000 E 1000 - 1000 [

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,9,4) TVC(cbch) (1,9,5) TVC(cbch) (1,9,6) TVC(cbch) (1,9.7)
T i z31e+u4 / 25 - i blze+u4 [ 25 -1 nur boye+u4 [ 25 =1 nui buye+u4 / 25
4000, pO 4209+ 0.0 4000 e, pO 4222+ 0.0 4000 e pO 4229+ 0.0 4000 e, pO 4233+ 0.0
pl -36.23 + 0.00 pL -36.68 + 0.00 3 pl -36.91+ 0.00 -36:+ 0.0
3000~ B 3000 B 3000 — — 3000 B
2000 - 4 2000 - 2000 — — 2000 -
woof C . 1000 . wof C = 27.09 [ps/ch . 1000 .
0 EY 00 - 0 0 EY o 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,9,8) TVC(cbch) (1,9,9) TVC(cbch) (1,9,10) TVC(cbch) (1,9,11)
T nuiLs rge+ud [ 25 ~ b, z84e+04 [ 25 Trnug3e+u4 [ 25 - rnuiz.ulie+ud [ 25
e pO 4180+ 0.0 4000 4212 0.0 e DO 4229+ 0.0 4000 4222+ 0.0
339+ 0.0 -34.61% 0.00 [ pl -35.54 + 0.00 -34.09+ 0.00
3000 - - 3000 B 3000 - 3000 -
2000 - 2000 B 2000 ' 2000 - T

w0 C = 29.50 [ps/ch]™, ] ] woF C = 29.33 [ps/ch] ™, ]
1 1 - 1 1 - 1 1 "
0 50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(CbCh) (1, 9 12) TVC(CbCh) (1, 9 13) TVC(CbCh) (1, 9 14) TVC(CbCh) (1, 9 15)
TnuiL4rse+u4 [ 25 T 1 34e+04 /25 TinuiL b 4e+04 [ 25 Ty 4ae+04 /25
e pO 4206+ 0.0 4000 [ pO 4194 0.0 4000 PD 4200+ 0.0 4000, 4209+ 0.0
pl -34.71+ 0.00 pl -34.12+ 0.00 : pl -35.27 + 0.00 -34.24 + 0.00
3000 B 3000 [ B 3000 - 3000 [ B
2000 1 2000 [~ - 2000 ' 2000 B
] ok C =29.31 [ps/ch]™_ 7 L ] wor C =29.21 [ps/ch]™_ 1
. s .
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T rnwiLa41e+04 /25
.. pO 4197+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (1,104

- rnuiLg11e+u4 / 25
4185+ 0.0
-34.4+ 0.0

TP delay [ns]

TVC(cbch) (1, 10 8

1 nuz.459e+04 | 25
= po 4229+ 0.0
p1 -37.2+ 0.0

TP delay [ns]

TVC(cbch) (1,10,12

T 1L 53pe+u4 / 25
= po 4223+ 0.0
-33.87 + 0.00

[ C =29.52 [ps/ch]
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1, 10 1)

- waiodzeud 25
o=, pO 4213+ 0.0
pL -35.81% 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

- nui 34/e+04 [ 25
e pO 4185+ 0.0
pL -35.07+ 0.00

TP delay [ns]

TVCEbeh)=( 1, 10,9

1 nuis. 79ve+ud / 25
= po 4235+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(cbch) (110,13

T inai ssze+ud [ 25
F 4227+ 0.0
-32.92+ 0.00

[ C =30.38 [ps/ch] ™ 7]
s *
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (1,10,2)

A7 1nuis44e+04 /25
__— po 4200+ 0.0
L pl -34.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,106

“ L bu/e+ud / 25
- pO 4204+ 0.0
[ pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1 nuiLy4ge+u4 | 25
- po 4251+ 0.0
- pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (110,14

T rnuiLp4re+u4 /25
. pD 4228+ 0.0
L pl -34.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT 1L soze+ud [ 25
=, po 4198+ 0.0
p1 -34.58 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

=11 490e+04 / 25
- pO 4217+ 0.0
pL -35.65+ 0.00

TP delay [ns]

TVC(eheh)=(1, 10, 11

Tonai//1e+u4 /25
= po 4277+ 0.0
pl -38.22 + 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T nuibule+ud /25
F=. 4212+ 0.0
-33.65+ 0.00

[ C=29.72 [ps/ch] ]
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50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

X~ 1 r3ve+U4 [ 25
o= po 4200+ 0.0
p1 -37.12+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 4

- iU 199e+04 / 25
.. po 4205+ 0.0
pl -35.76 + 0.00

50 5
TP delay [ns]

TVC(ebeh=(L, 11,8

- nug.uige+ud [ 25
- po 4227+ 0.0
p1 -36.83+ 0.00

TP delay [ns]

TVC(c,b Ch) (1,11,12

X~ 1y r41e+04 /25
= po 4240+ 0.0
p1 -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (1, 11 1)

~ i 4ve+Ud 25
.. pO 4210+ 0.0
pL -36.41% 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 5

“onun1b1e+u4 /25
4201+ 0.0
-36+ 0.0

TP delay [ns]

TVC(cbch) (1,11,9

- b, 184e+U4 ] 25
e pO 4253+ 0.0
pL -37.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 13

~ 1 nuiLvbae+ud / 25
pO 4238+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (1,11, 2)

AT 1 su4e+04 [ 25
- po 4225+ 0.0
[ p1 -37.26 + 0.00

3000

TP delay [ns]

TVC(c,b Ch) (1, 11 6

1 nuiL478e+04 | 25
- pO 4220+ 0.0
- pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 10

1000

0

s le+ud | 25
- pO 4271 0.0
L pl -36.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (1,11, 14

A~ 1 nui sgoe+u4 / 25
- po 4234+ 0.0
L p1 -37.24.+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,11,3)

A~ 1L ouse+ud [ 25
=3 po 4227+ 0.0
p1 -36.31+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 7

- nui /14e+04 / 25
- pO 4230+ 0.0
p1 -35.95+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (1, 11 11

iy 116 0a 1 25
e pO 4274% 0.0
p1 -36.99+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 15

T nai 40e+04 / 25
e pO 4244+ 0.0
p1 -37.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

©rnuiLgose+ud [ 25
4154+ 0.0
-34.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,124

- Lbe+u4 /25
= pO 4171+ 0.0
pl -35.15+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

©1nuizuloe+u4 | 25
- po 4197+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (1,12,12

T rnuiL4zoe+u4 [ 25
pO 4193+ 0.0
pl -34.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

K- rnuiLgize+ud [ 25
peoe.. po 4163+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (1,125

=1 nui bobe+u4 / 25
- pO 4184+ 0.0
pL -35.45+ 0.00

TP delay [ns]

TVCEbeh)=( 1, 12,9

[ C =29.19 [ps/ch]

. Hquuae+u4/25
= po 4202+ 0.0
p1 -34.26 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (112,13

T nuiLpuse+ud / 25
= pO 4191+ 0.0
pl -35.79+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

A7 1 nun44se+04 /25
- po 4173+ 0.0
L p1 -34.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (1126

- 1 i boye+ud [ 25
- pO 4183+ 0.0
[ pl -35.28+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

T zoze+u4 | 25
= po 4223+ 0.0
L -35.5+ 0.0

TP delay [ns]

TVC(cbch) (112,14

T i s15e+U4 / 25
pD 4207+ 0.0
pl -36.11 + 0.00

TP delay [ns]

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

AT rnuiL4pre+ud [ 25
- po 4179+ 0.0
p1 -34.39 + 0.00

TP delay [ns]

TVC(c, bch) (1,127

Sonan o 1.4e+04 /25
- po 4197+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 11

~ 1 nui v3ae+u4 / 25
= po 4215+ 0.0
p1 -34.65+ 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- T nuib3soe+ud [ 25
pO 4195+ 0.0
-35.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(CbCh) (1,13,0)

X~ 1y, 158e+U4 [ 25
4204+ 0.0
pl -37.48+ 0.00

po

TP delay

TVC(cbch) (1,134

[ns]

- rnuiL, r9ve+u4 / 25
4210+ 0.0
-35.19+ 0.00

P PO
p1
3000 ]
2000~ 7]
1000 C 7]
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (113,8)
© 1 nuiLygye+u4 / 25
4000 fm. pO 4194+ 0.0
p1 -34.21+ 0,00
3000 - ]
2000 = ]
oF C =29.23 [ps/ch]™,_ ]
1 1 -
b 50 100
TP delay [ns]

4000

3000

2000

1000

TVC(cbch) (1,13,12

T rgre+u4 [ 25
4251+ 0.0
pl -36.54 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,13,1)

P PO

pl

A” 1 nup.blze+ud [ 25
4204+ 0.0
-36.89 + 0.00

TP delay [ns]

TVC(c, bch) (1,135

-1 nuz.usye+us / 25
4224+ 0.0
-35.56 + 0.00

TP delay [ns]

TVCEben)=( 1, 13,9

pO
pl

Tinugg/1e+ud /25

4252+ 0.0
-34.71+ 0.00

[ C =28.81[ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,13,13

bze+ud | 25
4253+ 0.0
-36.86 + 0.00

PSRy

e, po
p1

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (1, 13 2)

Frue, po

T4/ ze+04 [ 25
4204+ 0.0
pl -36.77 + 0.00

TP delay

TVC(cbch) (1136

- P°

p1

[ns]

-1 nuiLyz4e+04 [ 25
4233+ 0.0
-36.18 + 0.00

TP delay

[ns]

TVC(cbch) (1, 13 10)

pO

pl

Tzl (e+u4 [ 25
4264+ 0.0
-36.31+ 0.00

TP delay

[ns]

TVC(cbch) (1,13,14)

- pD

pl

~ 1L psze+u4 | 25
4236+ 0.0
-36.1+ 0.0

TP delay

[ns]

TVC(Cbch) (1,13,3)

3000

2000

1000

AT nuir soze+u4 | 25
4000 =, po 4227+ 0.0
pL -36.28  0.00

TP delay [ns]

TVC(c, bch) (1,137

4000 G

3000

2000

w00l C = 27.52 [ps/ch ]

- 1nu1ble+u4 / 25
pO 4239+ 0.0
pL -36.33+ 0.00

TP delay [ns]

TVC(eheh)=(1, 13, 11

4000 [Gue.

3000

2000

1000

-1 nuiy4ae+u4 / 25
po 4258+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (1,13,15

4000 [,

3000

2000

1000

Tinai/oe+ud [ 25
pO 4256+ 0.0
p1 -37.04+ 0.00

TP delay [ns]



TVC(CbCh) (1, 14 0)

4000

3000

2000

1000

T rnwiLgive+u4 /25
. pO 4200+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (1,144

4000

3000

2000

1000

- 1L 506e+04 / 25
= pO 4177+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (1,14,8

4000

3000

2000

1000

T rnuiz41ze+04 /25
po 4173+ 0.0
-33.19+ 0.00

[ C =30.13 [ps/ch] ™.

0

1
50 100

TP delay [ns]

TVC(cbch) (1,14,12

4000

3000

2000

1000

T L, rose+u4 / 25
= po 4260+ 0.0
pl -36.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

AT 1 nuiLogoe+ud [ 25
P, po 4194+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,5

- nuiLb81e+U4 25
™, DU 4191+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

<1 nuw.pbae+ud 25
= po 4199+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (114,13

Tinair3/e+ud [ 25
= pO 4253+ 0.0
pl -37.36 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,14,2)

K™ 1 nui ooye+ud / 25
__- po 4212+ 0.0
L pl -36.69+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,146

-1 nui489e+04 [ 25
4175+ 0.0
-36.5+ 0.0

TP delay [ns]

TVC(e b eh)=( 1, 14,10

T 1nuz.z45e+04 | 25
= po 4223+ 0.0
L -34.81+ 0.00

TP delay [ns]

TVC(cbch) (114,14

1000

T rnuiLp4le+u4 [ 25
- pD 4261+ 0.0
L pl -36.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

A1 L adse+Ud ] 25
P, po 4230+ 0.0
pL -37.06+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

S nun 1 rge+ud [ 25
- pO 4199+ 0.0
pL -36.18+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

-1 nuiL byge+u4 / 25
= po 4213+ 0.0
p1 -34.27 + 0.00

[ C=29.18 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,14,15

S 17evud 25
e po 4255+ 0.0
p1 -36.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

T rnuiLys/e+u4 [ 25
F o pO 4205+ 0.0
pl -37.94  0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,154

T Ly rse+ud [ 25
- pO 42254 0.0
p1 -36.46+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

1 nuizuzve+u4 | 25
- po 4226+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

© L goe+u4 / 25
= po 4232+ 0.0
pl -35.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1, 15 1)

1L b4ge+ud 25

P, pO 4208+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (1,155

-1 i B4pe+u4 / 25
- pO 4228+ 0.0
-36.2+ 0.0

50 1(;0
TP delay [ns]

TVC(c, bch) (1, 15 9

T nug s33e+U4 / 25
- po 4259+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(cbch) (115,13

T nui osye+ud / 25
= pO 4229+ 0.0
p1 354+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

L=
50 100

TP delay [ns]

TVC(cbch) (1,156

1000

K™ 1nuioyie+u4 /25
_l' - po 4228+ 0.0
o pl -38.16+ 0.00

3000

1 nuiL844e+04 | 25
- pO 4230+ 0.0
- pl -35.29 + 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

1 nuzpyge+ud | 25
- DO 4272+ 0.0
- pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (115,14

T i, ro4e+04 / 25
- pD 4237+ 0.0
L pl -34.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

AT sl re+ud [ 25

=, po 4217+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(c, bch) (1,157

-1 nui bgse+u4 / 25
- pO 4231+ 0.0
pL -35.28+ 0.00

TP delay [ns]

TVC(eheh)=(1, 15, 11

T nuiz 1bae+04 / 25
- po 4290+ 0.0
-36.3 + 0.0

TP delay [ns]

TVC(cbch) (1,15,15

T nuib4ye+ud [/ 25
= po 4235+ 0.0
p1 -35.2+ 0.0

TP delay [ns]



TVC(c,b Ch) (2,0,0) TVC(c,b Ch) (2,0,1) TVC(c,b Ch) (2,0,2) TVC(c,b Ch) (2,0,3)
K~ 1 fove+04 ] 25 XL s e+Ud ] 25 X~ 1 (ove+04 ] 25 K- 1L buse+Ud | 25
4000 po 4205+ 0.0 4000, po 4220+ 0.0 4000, po 4214+ 0.0 4000 e, po 4207+ 0.0
Pl -37.54% 0.00 pl_ -37.380.00 [ Pl -36.44% 0.00 Pl -36.22 0.00

3000

1 3000 =1 3000 -1 3000 -1

2000 1 2000 = 2000 =1 2000

1000 7 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,0,4 TVC(cbch) (2,0, TVC(cbch) (2,0,6 TVC(c, bch) (2,0,

T (?449*05 125 ~nur 2&4/&*05 125 T 2l$e+U5 125 T ‘!)LSE+US/25
4000 pO 4192+ 0.0 40008 DU 4195+ 0.0 4000 [, pO 4212+ 0.0 4000 fe pO 4212+ 0.0
Pl -34.68% 0.00 -34.39 ¢ 0.00 [ L -35.29% 0.00 PL_ -3457%000
3000 E 3000 - a000| ] 3000 ]
2000~ 1 2000 B 20001 ] 20001 7
L ] L ] woor- C = 28.33 [ps/ch ] 000 C = 1
1000 C w0 C = 29.08 [ps/ch] : [p ] C =28.93 [ps/ch] 2
1 1 - 1 1 - : 1 1 - 3 _1 1 -
50 T00 50 00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2 0,8 TVC(cbch) (2 0,9 TVC(cbch) (2, 0 10 TVC(cbch) (2, O

4000 T rnuiLbu/e+u4 [ 25 4000 T nug g1ze+u4 [ 25 4000 T nuz130e+04 / 25 o u45e+u4/25
- PD 4187+ 0.0 = DO 4200+ 0.0 - DO 4226+ 0.0 4000 pom, pO 4235+ 0.0
pl -34.93 + 0.00 pl -35.78 + 0.00 r pl -36.28 + 0.00 pl -36.06 + 0.00

- 3000

3000 - 3000 =1 3000 -1

2000 g 2000 E 2000 - 2000

1000 - 1000 - 1000 X —_ 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(2012) TVC(cbch)(2013) TVC(CbCh)(ZOl ) TVC(cbch)(2015)
Ty rse+ud /25 T inai r8ye+ud [ 25 ~rnuiLyuse+u4 / 25 Tonuayrie+rud / 25
4000 o, pO 4206+ 0.0 4000 4222+ 00 4000, PD 4219+ 0.0 4000 fo pO 4205 0.0
pl -34.33+ 0.00 -35.61+ 0.00 F pl -35.05+ 0.00 pl -34.53+ 0.00

- 3000

3000~ -1 3000 . 3000 .

2000 - 2000 N 2000 - 2000

1000

T 1000 N 1000

10r C =29.13 [ps/ch]™,_ 7 . ]
IS(I)IIII1(?:0I- Illlglﬁlllllﬂlol-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0

X~ 1w U/ re+U4 /25

- po 4220+ 0.0
pl -40.19 + 0.00

TP delay [ns]

TVC(cbch) (21,4

T 3r5e+04 / 25
Frvee pO 4178+ 0.0
pl -35.26+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

1 nuiz.480e+04 | 25
- po 4216+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (21,12

T rnuiL43ve+ud [ 25
= po 4206+ 0.0
pl -34.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1

AT 1 nusnsse+ud [ 25
[ po 4215+ 0.0
pl -38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

=1 boye+ud [ 25
Frwe pO 4194+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 1

T nu.zu3e+u4 / 25
- pO 4243+ 0.0
pl -37.03 + 0.00

TP delay [ns]

TVC(cbch) (21,13

~ 1 nuiL pbbe+ud / 25
- pO 4227+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

K™ 1nugoore+ud /25
o po 4219+ 0.0
o pl -37.8+ 0.0

L C = 26.45 [pslc ]

50 100

TP delay [ns]

TVC(cbch) (2,1,6

=i buze+u4 [ 25
F.-.. pO 4198+ 0.0
[ pl -35.75+ 0.00

TP delay [ns]

TVCebeh)=(2 1, 10

1000

Tz 148e+04 / 25
-, po 4242+ 0.0
- pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (21,14

T4z ie+04 /25
n pD 4222+ 0.0
[ p1 -36.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

- PO

p1

AT 1 nus.ou4e+u4 [ 25
4228+ 0.0
-37.81+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

pO
pl

-1 nuibb/e+u4 [ 25
4198+ 0.0
-35.67 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2, 1

= pO

SRR b/He+U4/25
4247+ 0.0
-36.53 + 0.00

TP delay [ns]

TVC(cbch) (2,1,15

A rnan L

Bze+ud | 25
4204+ 0.0
-35.85+ 0.00

TP delay [ns]



TVC(c,b Ch) (2,2,0) TVC(c,b Ch) (2, 2 1) TVC(c,b Ch) (2,2,2) TVC(c,b Ch) (2,2,3)
K- 106 (6404 ] 25 s s rerud 25 X~ 1L 4Loe+04 ] 25 X~ 1L b r5e+Ud | 25
4000, po 4175+ 0.0 4000 o, pO 4188+ 0.0 4000 foe, po 4192+ 0.0 4000 o, po 4205+ 0.0
pL 35+ 0.0 pl_ -36.16+ 0.00 [ Pl -36.63 0.00 pl  -37.52 0.00

- 3000

3000 = 3000 -1 3000

2000 J 2000 - 2000 - 2000

1000 4 1000 B 1000 B 1000

o oL I L= o
50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (2 2,4) TVC(cbch) (2 2,5) TVC(cbch) (2 2,6) TVC(cbch) (2 2,7)
- i 31ze+04 / 25 “nun1.30e+04 / 25 — =1 nur bope+ud / 25 -1 nui Buze+u4 / 25
R o PO 4197+ 0.0 4000 e, DU 4182+ 0.0 4000 - pO 4197+ 0.0 4000 e, pO 4200+ 0.0
pl -37.2+ 0.0 pl -36.12+ 0.00 : pl -36.97 + 0.00 pl -36.86 + 0.00
3000 1 3000 -1 3000 :— —: 3000 1
2000 - - 2000 - 2000 -— —- 2000 -
woo- C = 26.88 [ps/c ] 1000 ] woor- C = 27.05 [ps/c 7] 1000 C ]
0 55 5 - 0 0 =5 5o - 0 5 0% =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (2 2,8) TVC(c,b ch) (2 2,9) TVC(c,b, ch) (2, 2 10) TVC(c,b ch) (2, 2 11)
- rnug.uLbe+ud / 25 =1 nup Yabe+u4 / 25 - nuz 3z8e+04 [ 25 - i ysze+u4 / 25
42000 5, 1000 42000 5 4000 [,
- PD 4191+ 0.0 DO 4234+ 0.0 - DO 4227+ 0.0 - DO 4219+ 0.0
pl -35.18 + 0.00 pl -35.42+ 0.00 : pl -35.96 + 0.00 pl -35.32+ 0.00

3000 . 3000 -1 3000 . 3000 .

2000 . 2000 - 2000 N 2000

1000 — 1000 - 1000

T 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(221 ) TVC(cbch)(2213) TVC(Cbch)(221 ) TVC(cbch)(2215)
© 1 nuz,u44e+04 / 25 Ty re+u4 /25 T L y3soe+ud / 25 T L gse+u4 / 25
4000 e pO 42364 0.0 4000 pO 422200 4000 o, PD 4228+ 0.0 4000, pO 4222+ 00
pl -37.02+ 0.00 pl -36.17 + 0.00 : pl -36.88 + 0.00 pl -35.64 + 0.00

3000 -1 3000 - 3000 N 3000 T

2000 -1 2000 - 2000 N 2000

1000 -1 1000 -1 1000 N 1000

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0

A™ 1L 444e+04 [ 25
P po 4206+ 0.0
pl -36.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (23,4

T i rz9e+04 [ 25
e, pO 4208+ 0.0
pl -36.51+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 3,8

©1nuz51ve+u4 [ 25
= po 4226+ 0.0
pl -36.93+ 0.00

TP delay [ns]

TVC(cbch) (2,312

T ryre+u4 [ 25
= po 4228+ 0.0
pl -34.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

X- 1 L bzae+U4 | 25
o=, po 4214+ 0.0
pL -36.41% 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

-1 nui b34e+04 / 25
e, pO 4196+ 0.0
pL -35.58+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

-1 nug.Ubye+ud / 25
= po 4258+ 0.0
p1 -37.48 + 0.00

TP delay [ns]

TVC(cbch) (2,313

T nui gzoe+ud [ 25
- pO 4227+ 0.0
pl -34.73+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,3,2)

A7 1 nui n44e+04 /25
po 4210+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (23,6

T rnuL4/1e+04 /25
pO 4218+ 0.0
pl -35.84+ 0.00

TP delay [ns]

TVC(cbch) (2, 3 10

Tz rve+u4 | 25
po 4269+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (2,314

1L bo0e+U4 / 25
pD 4226+ 0.0
pl -34.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

AT rnuiLsrse+ud [ 25
- po 4207+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

- rnublie+ud [ 25
- pO 4197+ 0.0
p1 -35.04+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

T, /bze+u4/25
- po 4257+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(C, bch) (2,315

T nuiLpu/e+ud /25
4228+ 0.0
-35.91+ 0.00

PR I S S |
50 100

TP delay [ns]



TVC(CbCh) (2,4,0) TVC(CbCh) (2,4,1) TVC(CbCh) (2,4,2) TVC(CbCh) (2,4,3)
x-S 15e+04 ] 25 K- 1L dsve+ud | 25 X~ 1 oue U4 ] 25 A~ L6 r4e+Ud ] 25
4000 [, po 4204+ 0.0 4000 [, po 4190+ 0.0 4000 e, po 4197 0.0 4000 fe, po 4219+ 0.0
Pl -34.92+ 0.00 Pl -34.46+ 0.00 [ Pl -35.27%0.00 Pl -36.29+ 0.00

- 3000

3000 - 3000 =1 3000

2000 E 2000 - 2000 - 2000

1000 - 1000 4 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2.4, TVC(cbch) (24,6 TVC(c, bch) (24,

“ g (?bse+04 125 T rnar 2/ZE+04/25 ~ g 214e+u4 125 Trnan g QLEEH)A/ZS
4000 pO 4209+ 0.0 4000 e, pO 4218+ 0.0 4000 e, pO 4228+ 0.0 4000 e, pO 4226+ 0.0
Pl 3578+ 0.00 Pl -35.83% 0.00 3 pl -36.75+ 0.00 Pl -36.26+ 0.00
3000 [ B 3000 — 3000~ — 3000 B
2000~ E 2000 E 2000 ] 2000 B
1000 C ] 1000 1 wool- C = 27.21 [ps/ch 7 wool- C = 27.57 [ps/ch ]
I 2 I ) I -
50 00 0 50 T00 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

©nuiL, fuze+u4 / 25 T g bble+u4 [ 25 Tnun2.48e+04 125 AN uube+u4/25
4000 4244500 4000 4259+ 00 4000 fom DO 4275+ 00 4000, p0 4280+ 0.0
Pl -38.26: 0.00 -37.3% 0.0 L PL_ -37.18% 0.00 Pl -37.53: 000

-1 3000

m
o
S

3000~ 1 3000 -1 3000

2000~ -1 2000 -1 2000 -1 2000

1000 [~ -1 1000 -1 1000 - 1000

I I [
% 50 00 0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(Ebe=(2 4, 12) TVC(ebeh=(2, 4, 13) TVC(Ebe=(2 4, 14) TVC(ebeh)=(2, 4, 15)
T soe+ud /25 T inai srse+ud [ 25 ~1nuiL4oze+04 / 25 T inaiazze+u4 [ 25
4000 [m, pO 4244+ 0.0 4000 pO 4229+ 0.0 4000 PD 4232+ 0.0 4000 o, pO 4237+ 0.0
pl -34.56 + 0.00 -34.99.+ 0.00 I pl -35.06 + 0.00 pl -34.99 + 0.00

- 3000

3000~ _ 3000 - 3000 -1

2000 [~ | 2000 -1 2000 -1 2000

-1 1000

10r C =28.93 [ps/ch]\, 7 oo . y 1000 .
'5'0""160'- Illlgldlllllﬂlol-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

TVC(cbch) (2,5,0)

' po

K™ 1 nui 1yve+ud / 25
4214+ 0.0
pl -35.77 + 0.00

TP delay

TVC(cbch) (2,54

[ns]

T 3rze+04 [ 25
4187+ 0.0
-36.32+ 0.00

e pO
pL
3000~ 7
2000 - ]
1000 C 7]
0 = 00 =
TP delay [ns]
TVC(cbch) (2,5,8)
~ 1 nuz,Ubse+ud / 25
4000 o pD 4215+ 0.0
p1 -34.44 0.00
3000 - ]
2000 = ]
1000~ C = 29.04 [pS/Ch] 3 7]
1 1 -
b 50 100
TP delay [ns]
TVC(cbch) (2,5 12)
T z41e+04 / 25
4000 e pO 4232+ 0.0
p1 -34.81+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51)

e, po

AT 1L sose+ud [ 25
4208+ 0.0
-35.32+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (2 55

=1 nui byve+u4 / 25
4198+ 0.0
-36.92 + 0.00

TP delay [ns]

TVC(c,b ch) (2 59

pO
pl

~ 1 nuis 744e+04 / 25
4239+ 0.0
-34.45+ 0.00

[ C =29.03 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (2,5,13

== po

p1

Tinaizole+ud [ 25
4241+ 0.0
-33.97+ 0.00

[ C =29.44 [ps/ch]

50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,5,2)

AT 1nun zzse+04 /25
= po 4221+ 0.0
o pl -36.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,556

T nun145e+04 /25
- pO 4202+ 0.0
u pl -35.93 + 0.00

TP delay [ns]

TVC(cbch) (2, 5 10

© 1L re4e+04 / 25
-, po 4250+ 0.0
- pl -34.94 + 0.00

TP delay [ns]

TVC(cbch) (2,514

T ssse+u4 [ 25
- pD 4247+ 0.0
L pl -34.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3)

o=, po

p1

AT rnuiLzsse+ud [ 25
4221+ 0.0
-36.68 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2 57

b= pO
pl

- nun bz1e+u4 / 25
4210+ 0.0
-36.08 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 5

pO
pl

T tu/e+u4/25
4255+ 0.0
-34.42+ 0.00

[ C=29.05[ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (2,5,15

T inuiLqu/e+ud [ 25
4234+ 0.0
-34.65+ 0.00

TP delay [ns]



TVC(cbch) (2,6,0)

4000

3000

2000

1000

X~ 1 r11e+u4 [ 25
4198+ 0.0
-35.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (26,4

4000

3000

2000

1000

T L4y /e+ud / 25
o, pO 4260+ 0.0
p1 36+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2 6, 8

4000

3000

2000

1000

T 1L 4n3e+u4 / 25
4247+ 0.0
-34.65+ 0.00

C =28.86 [ps/ch] ]

0

1
50 100

TP delay [ns]

TVC(cbch) (2,6,12

4000

3000

2000

1000

T rnuiLu4re+u4 /25
4227+ 0.0
-32.83+ 0.00

C =30.46 [ps/ch] ™_ 1

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT 1 nunLsuze+ud [ 25
Fraee po 4206+ 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

-1 nui 1bYe+u4 / 25
[P, DO 4263+ 0.0
-34.78 + 0.00

[ C =28.75[ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

~ 1 nuig zoye+ud / 25
- po 4265+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(cbch) (2,6,13

T inai z4ae+04 [ 25
4230+ 0.0
-34.56 + 0.00

[ C =28.94 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

A I'U'l‘:,'((e+U4/25
_l_ po 4214+ 0.0
- pl -36.02 + 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.34 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

© 1 nuz189e+u4 / 25
_- DO 4291+ 0.0
- pl -36.38 + 0.00

- i Jobe+04 / 25
[, pO 4257+ 0.0
[ pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (2,614

~ i 19se+u4 / 25
__ pD 4233+ 0.0
L pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT 1L Buse+u4 [ 25
F po 4220+ 0.0
pl -35.53+ 0.00

[ C=28.15[ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (2 6,7

-1 nui0aze+u4 [ 25
pO 4261+ 0.0
p1 -34.73+ 0.00

[ C =28.80 [ps/ch] ]

L
50 100
TP delay [ns]

TVC(c,b ch) (2, 6

T 549e+u4/25
- po 4289+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

T nai1oze+ud [ 25
P 4243+ 0.0
-34.74+ 0.00

[ C =28.78 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0

AT inun 3rze+04 /25
P po 4199+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (27,4

T by /e+ud [ 25
- pO 4186+ 0.0
p1 -34.78:+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2,7,8

T rnuig.urve+u4 | 25
= pO 4211+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (2,7,12

~rnuiLgy4e+u4 / 25
- po 4221+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,71

x- 1 i Sae+ud | 25
- po 4206 + 0.0
pL -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

“nui b4 e+04 [ 25
e, pO 4188+ 0.0
pL -34.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 7

T nuig.ayle+ud / 25
= po 4222+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(cbch) (2,7,13

T inai zge+ud [ 25
— 4212+ 0.0
-35.51+ 0.00

il
100

TP delay [ns]

4000

2000

4000
3000
2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (2,7,2)

1000

K™ 1 nuioooe+V4 / 25
- po 4219+ 0.0
o pl -37.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,6

1L bage+u4 | 25
pO 4216+ 0.0
pl -35.32 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

©1nuiz4n4e+04 [ 25
- po 4224+ 0.0
o pl -35.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (27,14

T L b3pe+u4 / 25
4219+ 0.0
-35.91+ 0.00

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3

AT 1 nuiLozze+ud [ 25
- po 4221+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

=1 nui boze+u4d / 25
- pO 4212+ 0.0
pL -35.23+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

Ty uze+u4/25
e pO 4241% 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(C, bch) (2,7,15

T inuib/ae+u4 /25
P, 4227+ 0.0
-36.31+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

A1,

223e+04 125
4214+ 0.0
-35.22+ 0.00

TP delay [ns]

TVC(cbch) (28,4

T L 34/e+04 / 25
pO 4229+ 0.0
p1 -34.62:+ 0.00

C =28.88 [ps/ch] ]

50 10‘0
TP delay [ns]

TVC(cbch) (2 8,8

T rnuig.4use+u4 / 25
po 4231+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (2,812

pO
p1

T L poze+u4 [ 25
4265+ 0.0
-36.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,1)

- PO

AT rnunLszse+ud [ 25
4230+ 0.0
-35.92+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (2 8,5

-1 nui Z3be+u4 [ 25
4225+ 0.0
-33.8+ 0.0

C =29.58 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

~ 1 nu1yze+ud [ 25
po 4238+ 0.0
pl -35.29 + 0.00

1
100

TP delay [ns]

TVC(cbch) (2,813

pO

p1

T inuiplse+ud / 25
4247+ 0.0
-36.2+ 0.0

TP delay [ns]

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

po

pl

K™ 1 nui soie+u4 /25
4234+ 0.0
-35.24 + 0.00

1
100

TP delay [ns]

TVC(cbch) (28,6

- C =29.19 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 8 10

©1nuiz.43pe+04 / 25
- po 4254+ 0.0
- pl -34.84 + 0.00

T L1/ /e+04 /25
- po 4244+ 0.0
[ pl -34.26 + 0.00

TP delay

TVC(cbch) (2,8 14

pD
pl

[ns]

T rnuiLa4/e+04 /25
4264+ 0.0
-36.1+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3)

AT 1L 1sse+ud [ 25
4224+ 0.0
-33.76 + 0.00

. po
pl
[ C=29.62[ps/ch] ™, ]
TP delay [ns]

TVC(c,b ch) (2 8,7

- pO

S nun 1pe+u4 /25
4257+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

SRR m/e+u4/25
po 4277+ 0.0
-35.66 + 0.00

1
100

TP delay [ns]

TVC(C, bch) (2,815

= po

p1

T nui ozoe+ud / 25
4273+ 0.0
-37.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0

K™ 1 nuianse+u4 /25
P po 4156+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (29,4

T by e+ud [ 25
- pO 4202+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (2 9,8

T nuig.2yse+u4 | 25
= po 4205+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2,9,12

T Ly/e+ud /25
= po 4202+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

AT 1 nuiLoyse+ud [ 25
P, po 4170+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

~nui foze+u4 [ 25
pO 4206+ 0.0
pL -37.95+ 0.00

1=
50 100
TP delay [ns]

TVC(c,b ch) (2 9,9

<1 nub.ayve+ud | 25
po 4218+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (2,9,13

TinuiLo//e+ud [ 25
pO 4197+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,9,2)

K™ 1 nui4nse+u4 /25
==, po 4177+ 0.0
L p1 -35+ 0.0

3000

TP delay [ns]

TVC(cbch) (29,6

T rnui 731e+04 / 25
- pO 4201% 0.0
3 pl -36.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 9 10

©nuz gooe+u4 [ 25
= po 4238+ 0.0
L pl -35.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

Ty re+ud /25
e, pD 4207+ 0.0
F pl -36.92+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3

AT 1 nuiLbr4e+U4 [ 25
poes, po 4161+ 0.0
pl -34.79 + 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

=1 nui Yobe+ud / 25
- pO 4230+ 0.0
pL -37.95+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 9

AN uuue+u4/25
e pO 4234+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(C, bch) (2,9,15

T inai45e+u4 / 25
- pO 4202+ 0.0
p1 -36.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

- 1 i s40e+04 [ 25
4165+ 0.0
p1 -35.82:+ 0.00

TP delay

TVC(Cbch) (2, 10 4

[ns]

T 33/e+04 / 25
4195+ 0.0
-35.04 + 0.00

= pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 10 8)
T rnuz z3ve+u4 | 25
= po 4219+ 0.0
pl -36.16 + 0.00

TP delay

TVC(Cbch) (2, 10 12

- po
p1

[ns]

T rnuiLgnse+ud [ 25
4238+ 0.0
-35.5+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

9445/ 25
4167+ 0.0
-34.61+ 0.00

A

. po

pl

TP delay [ns]

TVC(c,b Ch) (2, 10 5

- nun 3r8e+u4 [ 25
4195+ 0.0
-34.35+ 0.00

TP delay [ns]

TVC(Ebeh)=(2, 10,9

= pO

pl

T nu.a34e+04 / 25
4244+ 0.0
-35.52 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 10 13

T nuiLpb/e+ud [ 25
4234+ 0.0
-36.26 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

F=. po

X~ 1L 335e+04 [ 25
4191+ 0.0
p1 -36.65+ 0.00

1
50 100

TP delay

TVC(Cbch) (2, 10 6

= o

[ns]

© i pbze+u4 / 25
4228+ 0.0
pl -35.88 + 0.00

TP delay

TVC(e,beh)=(2, 10, 10

= o

[ns]

- iz 1s2e+04 | 25
4273+ 0.0
p1 -36.45+ 0.00

TP delay

TVC(c,b Ch) (2, 10 14

= P"

[ns]

1 i puSe+u4 / 25
4235+ 0.0
p1 -35.55+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2, 10 3)

i

- pO

B 150425
4197+ 0.1
pL -36.03+ 0.00

TP delay

TVC(c,b Ch) (2, 10 7

E. pO

[ns]

-1 nui bbye+u4 / 25
4225+ 0.0
p1 -35.73+ 0.00

TP delay

TVC(ehch)=(2, 10, 11

= pO

[ns]

T inuiz14ze+04 / 25
4278+ 0.0
p1 -37.35+ 0.00

TP delay

TVC(cbch) (2, 10 15

[ns]

T 1nuiapae+ud [ 25
4230+ 0.0
-34.46 + 0.00

[ C=29.02 [ps/ch]

PR R SR |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

AT 1nuis/ve+u4 /25
.. po 4175+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (2,11,4

Tnun1.43e+04 /25
- pO 4186+ 0.0
pl -34.65+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 11,8

1 nuz.2ube+u4 | 25
= po 4213+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (2,11, 12

X~ 1 ryoe+u4 [ 25
= po 4232+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(Cbch) (2,11,1)

3000

2000

1000

X1 Ui 4s3e+ud [ 25
4000 e po 4190+ 0.0
pl -36.03+ 0.00

TP delay [ns]

TVC(cbch) (2,11,5

4000 S

3000 |-

2000

1000 [~

-1 nui4n3e+04 / 25
pO 4193 0.0
pL -35.54 + 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(2, 11, 9

4000 [

3000

2000

1000

. v\qume+u4/25
po 4232+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (211,13

4000 [

3000 -

2000

1000 [~

T inuiproe+ud [ 25
pO 4232+ 0.0
pl -35.18 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(CbCh) (2,11, 2)

AT L sze+u4 | 25
- po 4199+ 0.0
L pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (2,11,6

-1 nur bbze+u4 [ 25
e pO 4202+ 0.0
[ pl -35.73+ 0.00

TP delay [ns]

TVC(e.b.ch)=(2, 11, 10

X™ 1z z3ze+04 | 25
- po 4242+ 0.0
L pl -34.82+ 0.00

TP delay [ns]

TVC(cbch) (2,11, 14

X1 rzze+04 [ 25
-, po 4241+ 0.0
L pl -36.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,11,3)

AT rnuiLgyie+ud [ 25
- po 4200+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (2,11,7

“ i 3/1e+u4 / 25
- pO 4212+ 0.0
pL -35.66+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 11 11

T nuiLyrge+ud [ 25
= po 4228+ 0.0
pl -35.03+ 0.00

TP delay [ns]

TVC(cbch) (211,15

1 nui bope+ud / 25
= pO 4235+ 0.0
p1 -35.64 + 0.00

TP delay [ns]
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TP delay

TVC(cbch) (2,124

[ns]
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=5 po 4219+ 0.0
pl -36.12+ 0.00
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TVC(c,b, ch) (2, 12 8)
T nu, (yle+u4 / 25
= po 4202+ 0.0
p1 -34.68+ 0.00

TP delay

TVC(cbch) (212,12
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p1

[ns]

© i 5Eve+u4 / 25
4245+ 0.0
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TP delay
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F- pO

[ns]

~ 1 bage+u4 [ 25
4229+ 0.0
-36.5 % 0.0

TP delay

TVC(c,b ch) (2, 12

e, po

[ns]

-1 nug.yuse+ud 25
4227+ 0.0
pl -35.57 + 0.00

TP delay
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4227+ 0.0
-34.7+ 0.0
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T rnuiLproe+ud [ 25
4217+ 0.0
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[ns]
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4235+ 0.0
-36.46 + 0.00
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F C = 27.43 [ps/ch .
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TP delay [ns]
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Tz r3e+04 [ 25
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4243+ 0.0
-35.7+ 0.0
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[ns]
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4238+ 0.0
pl -39.82+ 0.00
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-
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[ns]
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4203+ 0.0
pl -35.87 + 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,13,1)

= po

X- 1 L4l ze+U4 | 25
4220+ 0.0
pL -36.34+ 0.00
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TVC(c, bch) (2,135
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4241+ 0.0
pl -39.32+ 0.00

TP delay [ns]
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e, po

<1 nui/ 1bbe+ud / 25
4228+ 0.0
p1 -34.71+ 0.00

TP delay
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T nui osye+ud / 25
4224+ 0.0
-35.9+ 0.0

TP delay

[ns]
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4211+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (2,136

pD

S rnuzole+ud [ 25
4252+ 0.0
pl -39.43 + 0.00

TP delay

TVC(cbch) (2,13,10

F= b

[ns]

1z gz8e+04 | 25
4239+ 0.0
pl -35.27 + 0.00

TP delay

TVC(cbch) (213,14

- pD

[ns]

1 nuiLpoye+ud / 25
4227+ 0.0
pl -35.79+ 0.00
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4224+ 0.0
pl -36.82+ 0.00
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TP delay [ns]

TVC(cbch) (2,144

12 /e+04 [ 25
™, pO 4182+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (2, 14 8

T8z e+04 [ 25
= po 4226+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

TVC(cbch) (214,12

TrnuiLgr1e+04 /25
= po 4212+ 0.0
pl -35.58 + 0.00
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pL -35.86+ 0.00

TP delay [ns]

TVC(c, bch) (2,145

-1 nu 33ze+04 / 25
e pO 4210 0.0
pL -37.17 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

T g, r88e+u4 [ 25
= pO 4249+ 0.0
pl -37.21+ 0.00
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TVC(cbch) (214,13

T inuiLasse+ud [ 25
- pO 4212+ 0.0
pl -36.95+ 0.00
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- pO 4216+ 0.0
3 pl -36.42+ 0.00

TP delay [ns]
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-1 nui b3ye+u4 / 25
- pO 4212+ 0.0
pL -35.98+ 0.00
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T nui rgoe+u4 / 25
- po 4263+ 0.0
p1 -37.43+ 0.00

TP delay [ns]
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T nuiasoe+ud [ 25
- pO 4211+ 0.0
p1 -35.77 + 0.00

TP delay [ns]
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-35.44 + 0.00
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TVC(cbch) (2,154

-1 b4aze+u4 [ 25
- pO 4189+ 0.0
p1 -35.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

T 1nuzploe+ud / 25
- po 4210+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (2,15,12

T 1 oae+ud /25
= po 4218+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(cbch) (2,155
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-1 nui491e+04 / 25
pO 4185+ 0.0
pL -34.57+ 0.00

TP delay [ns]
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pl -35.96 + 0.00

TP delay [ns]
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T nuin4ne+ud [ 25
pO 4207+ 0.0
-34.77+ 0.00
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p1 -35.48 + 0.00

TVC(Cbch) (2,15,3)
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1Ly rve+ud [ 25
4196+ 0.0
-35.52+ 0.00
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100

TP delay [ns]

TVC(cbch) (2,156

-1 nui byze+ud [ 25
- pO 4199+ 0.0
3 pl -35.74+ 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

T z.08e+04 /25
= po 4265+ 0.0
- pl -37.3+ 0.0

TP delay [ns]

TVC(cbch) (2,15, 14

T 1nuiLpl4e+ud [ 25
- pD 4223+ 0.0
L pl -35.29+ 0.00
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TP delay [ns]

TVC(c, bch) (2,157

Cnui 7 e+04 [ 25
- pO 4211£ 0.0
pL -35.95+ 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(2, 15, 11

~ 1 nuiLyloe+ud / 25
= po 4237+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2,15,15

Tinaiarze+u4 25
e pO 4211+ 0.0
p1 -33.17+ 0.00

TP delay

[ns]
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pO 4214+ 0.0
p1 -37.48+ 0.00

50 100
TP delay [ns]

TVC(cbch) (3 0,8

— T, ryse+u4 | 25
- po 4167+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch]
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50 100

TP delay [ns]

TVC(cbch) (3,0,12

T L pye+ud /25
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pl -36.52 + 0.00
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TVC(c,b ch) (3 0,5

-1 nui bzye+u4 [ 25
- pO 4206+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

T nuy.yrse+ud [ 25
= po 4210+ 0.0
p1 -34.62+ 0.00

TP delay [ns]

TVC(cbch) (3,0,13

~ 1 nuiL bope+ud 25
- pO 4222+ 0.0
pl -35.63+ 0.00
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1000

- i, r84e+04 [ 25
- pO 4229+ 0.0
[ pl -37.94+ 0.00

TP delay [ns]

TVC(cbch) (3, 0 10

— 1 nuzpgyve+ud | 25
-, po 4201+ 0.0
- pl -33.98 + 0.00

TP delay [ns]
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~ 1 nuiLgse+U4 / 25
F-. pD 4232+ 0.0
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- pO 4236+ 0.0
pL -37.87+ 0.00

50 100
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AN ua=e+u4/25
= po 4207+ 0.0
p1 -34.69+ 0.00
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TVC(C, bch) (3,0,15
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4216+ 0.0
-34.61+ 0.00

TP delay [ns]
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T i 743e+04 [ 25
pO 4199+ 0.0
pl -35.98:+ 0.00

TP delay [ns]

TVC(cbch) (3 1,8

T rnuiz0r3e+u4 /25
= po 4189+ 0.0
pl -35.32+ 0.00
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TP delay [ns]
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po 4195+ 0.0
pl -36.09 + 0.00
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pO 4219+ 0.0
pl -36.62+ 0.00
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- pO 4217+ 0.0
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TP delay [ns]
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= pO 4217+ 0.0
p1 -35.16+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

A~ 1nuiLoyre+ud /25
4167+ 0.0
-35.58+ 0.00

TP delay [ns]

TVC(cbch) (3,24
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4176+ 0.0
-35.49 + 0.00

TP delay [ns]
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Tz Z1ipe+u4 | 25
4220+ 0.0
-35.58 + 0.00
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4200+ 0.0
-36.85+ 0.00

TP delay [ns]
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T 1nu.zz3e+ud [ 25
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-36.33 + 0.00
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pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (33,4
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= pO 4208+ 0.0
p1 -34.17:+ 0.00
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TP delay [ns]
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T zuse+ud /25
= po 4210+ 0.0
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AT 1 nuLoyze+ud [ 25
Fee,, po 4195+ 0.0
p1 -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nui Zoge+u4 / 25
- pO 4221+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

T nun. y1se+ud / 25
= po 4219+ 0.0
p1 -34,68 £ 0.00

TP delay [ns]

TVC(cbch) (3,3,13

T naiazae+ud [ 25
pO 4232+ 0.0
pl -35.92+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,3,2)

TP delay [ns]

TVC(cbch) (33,6

AT inui L rse+V4 /25
__- po 4212+ 0.0
o pl -35.92+ 0.00

3000

- rnunb3ze+u4 [ 25
- pO 4230+ 0.0
[ pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (3, 3 10

T z1/e+u4 /25
- po 4248+ 0.0
- pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (3,314

~1nuiLp4se+u4 | 25
- pD 4214+ 0.0
L p1 -35.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3)

e po

AT 1L 1sbe+ud [ 25
4211+ 0.0
-34.52+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 3,7

pO
pl

-1 nur 2use+u4 / 25

4247+ 0.0
-34.55+ 0.00

[ C =28.94 [ps/ch]

_L

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 3

T ause+u4/25
4249+ 0.0
-36.6 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,3,15

PR

(12e+U4 /25
4236+ 0.0
-36.44+ 0.00

TP delay [ns]



TVC(cbch)(340) TVC(cbch)(34l) TVC(cbch)(342) TVC(cbch)(343)
- A” 1w go4e+04 [ 25 2000 E A~ 1L robe+ud | 25 4000 E A™ 11 buge+us [ 25 2000 E A~ 1 rupe+ud | 25
4000 fem, Y 4192+ 0.0 o, PO 4189+ 0.0 - po 4185+ 0.0 = PO 4204+ 0.0
pl -36.67 + 0.00 pl -36.21+ 0.00 r pl -35.76 + 0.00 pl -36.83+ 0.00

3000

1 3000 -1 3000 -1 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (34,4 TVC(cbch) (3.4, TVC(cbch) (34,6 TVC(c, bch) (3.4,

T 2&5(»04 125 s i)Z/E*U4/25 Tnung t?u\_ieﬂjd 125 Tonan 24[&+04/25
4000 fom pO 42264 0.0 4000 fon pO 42312 0.0 4000 fe, pO 4239+ 0.0 4000 e, pO 4247+ 0.0
Pl -36.03% 0.00 Pl 36,69+ 0.00 [ PL_ -37.37+0.00 Pl 3594+ 0.00

3000 4 3000 — 3000 B 3000 ]

2000 4 2000 - 2000 E 2000 [ 1

1000} 4 1000 - 1000F C = - [ ~ — ]

C r C=26.76 [psic ] wor C = 27.82 [ps/ch
" F T -
- - -
1 ' 0 o 1 L 1 -
50 100 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(3,4,8) TVC(E.e=(3,4,9) TVC(eb.ch=(3, 4, 10) TVC(ebe)=(3, 4, 1)
T nun zyve+ud /25 S ”U|44Hbe+U4/25 ~ 1, (Uge+u4 | 25 T 2.18e+04 / 25
4000 e pO 4209+ 0.0 4000 pO 4228+ 00 4000 DO 4238+ 00 4000 p0 4243+ 00
Pl 3432+ 0.00 Pl -34.87: 000 b PL_ 3576+ 0.00 Pl -34.93: 0.00

- 3000

3000~ -1 3000 T 3000 .

] 2000 E 2000

2000 - - 2000

- 1000

- 1000 1000

oo C = 29.14 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,4,12 TVC(cbch) (3,4,13 TVC(cbch) (3,4,14 TVC(C, bch) (34,15

T rnuiLgole+u4 / 25 4000 Tinuizuz/e+ud [ 25 4000 © 1 nuiLgsse+U4 / 25 4000 T nai ryve+ud [ 25
4000 e PO 4234+ 0.0 = PO 4220+ 0.0 ™ PD 4220+ 0.0 = pO 4224+ 0.0
pl -36.43+ 0.00 pl -37.22+ 0.00 r pl -36.83+ 0.00 pl -36.07 + 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

K™ 1 nuiquze+u4 /25
Frcea. po 4200+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

- i 318e+04 / 25
. pO 4212 0.0
p1 -35.34+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 5,8

©1nuig.bgve+u4 | 25
- po 4238+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

pO
p1

~rnuizusve+ud | 25
4292+ 0.0
-36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

A1 L dyae+Ud | 25
k.. po 4226+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

- nun bzge+u4 [ 25
=3 4202+ 0.0
-34.68 + 0.00

[ C =28.84 [ps/ch] =]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

T nu.Usse+ud / 25
- po 4268+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (3,5,13

Tinairy/e+ud [ 25
pO 4280+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

TP delay [ns]

TVC(cbch) (3,56

AT 1nuorze+Vd /25
_l po 4231+ 0.0
- pl -35.88+ 0.00

“ i 7z4e+04 [ 25
fo, pO 4206+ 0.0
[ pl -34.36+ 0.00

- C = 29.10 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10

©nuzysge+ud | 25
- po 4282+ 0.0
N p1 -34.9+ 0.0

- C = 28.65 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

T, r5ze+04 [ 25
pD 4280+ 0.0
pl -36.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT rmuiLolre+ud [ 25
s, po 4238+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nui 38be+u4 / 25
- pO 4218+ 0.0
p1 -34.34+ 0.00

[ C=29.12 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

T z/::e+u4/25
- po 4287+ 0.0
pl -35.01+ 0.00

I C =28.56 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

Tonairg/e+u4 /25
- pO 4293+ 0.0
p1 -36.88 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

A~ 1 nui430e+04 / 25
= po 4174+ 0.0
p1 -34.13+ 0.00

TP delay [ns]

TVC(cbch) (36,4

T4l /e+u4 /25
- pO 4238+ 0.0
p1 -36.68:+ 0.00

50 5
TP delay [ns]

TVC(cbch) (3 6,8

g rserud [ 25
- po 4227+ 0.0
p1 -36.55+ 0.00

TP delay [ns]

TVC(cbch) (3,6,12

- i s51e+04 [ 25
o, po 4220+ 0.0
pl -35.12:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,61

A L4l e+Ud ] 25
== po 4185+ 0.0
pL -34.61% 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nui Zgle+u4d / 25
- pO 4254+ 0.0
pL -37.48+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

- a0/ re+u4 [ 25
4254+ 0.0
-36.2+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

-1 1 S1e+ud ] 25
po 4231% 0.0
pl -35.9 + 0.0

TP delay

[ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

A~ 1 nui 4goe+u4 / 25
-, po 4202+ 0.0
L pl -35.24+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

1 nuiL458e+04 / 25
- pO 4257+ 0.0
L pl -36.88 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

S rnu1r1e+04 [ 25
-, po 4248+ 0.0
o pl -35.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,6,14

-1 534e+04 [ 25
I pD 4243+ 0.0
L p1 -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

A7 1 nuiLoobe+U4 / 25
pme. po 4191+ 0.0
pl -34.59:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

- 11U bbbe+u4 / 25
- pO 4259+ 0.0
p1 -37.85+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T 94be+u4/25
= po 4263+ 0.0
p1 -36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

- i 538e+ud [ 25
pO 4237+ 0.0
-35.59 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

T Lose+ud /25
.. pO 4194+ 0.0
p1 -35.16+ 0.00

TP delay [ns]

TVC(cbch) (37,4

- 1'zae+0a 25
e, pO 4203+ 0.0
p1 -35.44 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 7,8

T 1nuz.44ze+04 | 25
4211+ 0.0
-37.01+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (3,7,12

- 1 plse+ud [ 25
po 4223+ 0.0
pl -34.68+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,1

A~ 1 nuiLbuye+u4 / 25
. po 4199 0.0
p1 -35.02+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

1nuiLa/ge+ud [ 25
po 4192+ 0.0
pl -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

- 2y1e+U4 ] 25
pO 4238+ 0.0
pL -36.53+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 7 13

Tinai/13e+ud /25
pO 4207+ 0.0
pl -34.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

X~ 1w b4re+U4 /25
_- po 4214+ 0.0
L pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,7,6

T nun148e+04 /25
- pO 4210+ 0.0
o pl -35.85+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 7, 10

1000

0

- a8 rye+u4 [ 25
= po 4253+ 0.0
L pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (3,7,14

pD
pl

T rnuiLg34e+04 / 25
4208+ 0.0
-34.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

AT 1 nuiL4yse+u4 25
po 4214+ 0.0
p1 -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

- nui b1ve+u4 / 25
pO 4224+ 0.0
p1 -35.61+ 0.00

TVC(c,b ch) (3, 7

TP delay [ns]

T, 195e+u4/25
po 4252+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7 15

T inaiarye+ud [ 25
po 4214+ 0.0
p1 -35.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

AT 1nuiayre+ud /25
P po 4217+ 0.0
p1 -37.3+ 0.0

rC=26.81[ps/c ]

TP delay [ns]

TVC(cbch) (3,84

- 1 i 4p8e+04 / 25
- pO 4220 0.0
pl -35.31 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 8,8

T rnuzgo/e+04 [ 25
E pO 4247+ 0.0
pl -38.19+ 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (3,812

~rnuiLg44e+04 / 25
= po 4236+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,1)

X~ rnu 1oe+ud /25
pee,, po 4196 + 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

=1 1L 4upe+u4 / 25
e, pO 4208+ 0.0
pL -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

<1 nub.obbe+ud / 25
- po 4263+ 0.0
p1 -37.54.+ 0.00

TP delay [ns]

TVC(cbch) (3,8,13

Tinuigsie+ud [ 25
- pO 4232+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

2000

1000

TVC(cbch) (3,8,2)

AT 1nui 71oe+04 /25
- po 4198+ 0.0
L pl -35.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

© 1 nuiL445e+04 [ 25
4215+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(cbch) (3, 8 10

T nuzpgle+ud | 25
4269+ 0.0
-37.91+ 0.00

TP delay [ns]

TVC(cbch) (3,814

T s45e+04 / 25
- pD 4230+ 0.0
[ p1 -36.33+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1 nuiLb4/e+u4 | 25
e, po 4228+ 0.0
pl -37.08+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

-1 nun B38e+u4 / 25
- pO 4237+ 0.0
pL -36.09+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

T 595e+u4/25
- po 4273+ 0.0
pl -38.03+ 0.00

TP delay [ns]

TVC(C, bch) (3,8,15

T nui s rse+ud [ 25
e po 4240+ 0.0
p1 -35.68 + 0.00

TP delay [ns]



TVC(c,b Ch) (3,9,0) TVC(c,b Ch) (3,9,1) TVC(c,b Ch) (3,9,2) TVC(c,b Ch) (3,9,3)
A~ 1 L Soze+Ud [ 25 X~ 1L dszer0a ] 25 K~ 1L b5 2e+04 1 25 X~ 1L dbserud ] 25
4000 fmm,, po 4212+ 0.0 4000 fe,, po 4229+ 0.0 4000 fe, PO 4228+ 0.0 4000 fRe, PO 4227+ 0.0
Pl 35451000 Pl -35.95: 0.00 L PL_ 3571 0.00 Pl -34.87% 0.00

3000

E 3000 - 3000 - 3000 4

2000 -1 2000

= 2000 -1 2000

1000 E 1000 B 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (3,9.4) TVC(cbch) (3.9,5) TVC(cbch) (3,9.6) TVC(cbch) (3.9.7)
- 1nuiLay3e+u4 / 25 -1 nui gole+ud / 25 - 1nuz,034e+04 / 25 - nun18be+ud [ 25
4000 [, pO 4206+ 0.0 4000 [, pO 4214+ 0.0 4000 e, pO 4229+ 0.0 4000 fs pO 4239+ 0.0
-34.9+ 0.0 pL -35.96 + 0.00 3 pl -35.86+ 0.00 pL -34.97  0.00
3000 - 3000 - 3000 ] 3000 B
2000 4 2000 B 2000 — ' 2000 ]
1000 1 1000 ] 1000:‘(: =27.89 [ps/ch ' wool C = 28.59 [ps/ch] B
1 1 - - 1 1 ~- 1 "
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (3,9,8) TVC(c,b ch) (3,9,9) TVC(c,b, ch) (3,9,10) TVC(c,b ch) (3,9,11)
T nug1oe+u4 / 25 T rnug.bbre+u4 [ 25 © U, 30be+u4 / 25 - rnuz.ubye+u4 [ 25
4000 pO 4213+ 0.0 4000 pO 4226+ 0.0 4000 pO 4247+ 0.0 4000 p0 4254+ 0.0
pl -34.83  0.00 pL -35.41+ 0.00 3 pl -34.83 + 0.00 pL -35.87  0.00

3000 1 3000 1 3000 - 3000 N

2000 1 2000 2000 ] 2000

1000 ] 1000 1000F 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(391 ) TVC(cbch)(3913) TVC(cbch)(391 ) TVC(cbch)(3915)
T inuiLo1oe+u4 / 25 T rs3e+u4 [ 25 ~ 1L yu4e+u4 [ 25 -1 bgbe+u4 / 25
4000 fe, pO 4268+ 0.0 4000 [ pO 4246 00 4000 [, PD 4253+ 0.0 4000 [, pO 4245 00
pl -36.44 + 0.00 pl -36.59 + 0.00 : pl -37.72+ 0.00 pl -36.85+ 0.00

3000 -1 3000 - 3000 - 3000 -

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (3,10,0) TVC(cbch) (3,10,1) TVC(cbch) (3,10,2) TVC(cbch) (3,10,3)
“nuig $roe+u4 / 25 A~ 1L bbae+U4 [ 25 A™ 11 buse+u4 [ 25 A~ 1 bose+ud [ 25
4000 - PO 4216+ 0.0 4000 - po 4218+ 0.0 4000 __- po 4216+ 0.0 4000 e, po 4217+ 0.0
pl -36.83+ 0.00 pl -37.79+ 0.00 : pl -37.28+ 0.00 pl -35.89 + 0.00

-1 3000

3000 - 3000 -1 3000 -

2000 1 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (3,104

- i b3ve+ud / 25
- pO 4203 0.0
pl -36.68 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

©1nuz,108e+u4 / 25
[ pO 4248+ 0.0
pl -36.83 + 0.00

TP delay [ns]

TVC(cbch) (310,12

- L sge+ud [ 25
- PO 4232 0.0
pl -34.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c, bch) (3,10,5

~ 1 naiL, 744e+04 | 25
- pO 4210+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 10

T, 243e+04 [ 25
= pO 4261+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (310,13

[ C =29.24 [ps/ch]

i1 sbe+ud [ 25
- PO 4231% 0.0
pl -34.2+ 0.0

PR U S S |
50 100

TP delay [ns]

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TP delay [ns]

TVC(cbch) (3,10,6

-1 i bu3e+ud / 25
pO 4222+ 0.0
pl -36.51+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (3, 10 10

- oz 18e+04 / 25
DO 4274+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (3.10,14

T nuiLoyle+ud [ 25
PD 4234+ 0.0
pl -35.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c, bch) (3,10,7

-1 nun 4nze+04 / 25
= PO 4230+ 0.0
pL -37.83+ 0.00

50 100
TP delay [ns]

TVC(cbch) (3, 10 1
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p1 -34.67+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 4,8

Tz 3r0e+u4 [ 25
= po 4209+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (5,4, 12

T L ose+ud /25
== po 4203+ 0.0
p1 -35.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (54,1

AT rnunLizse+ud [ 25
=N po 4171% 0.0
pl -33.74+ 0.00

[ C =29.64 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (5 4,5

- nui b1ye+u4 [ 25
e, pO 4200+ 0.0
pL -35.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 4,9

-1 nu gyse+u4 / 25
4247+ 0.0
-36.3 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (54,13

Tinuin3/e+ud [ 25
- pO 4211+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,4,2)

AT 1nuiz41e+04 /25
P po 4183+ 0.0
L pl -35.2+ 0.0

3000

TP delay [ns]

TVC(cbch) (54,6

= 1 1uiL4u0e+04 / 25
- pO 4221 0.0
[ pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (5, 4 10

© 1 nuz158e+04 / 25
F po 4246+ 0.0
F pl -35.34 + 0.00

TP delay [ns]

TVC(cbch) (5,414

T 14ve+ud /25
= pD 4205+ 0.0
L p1 -34.78 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3

AT rnuiLzrse+ud [ 25
poee, po 4196 + 0.0
pl -34.55 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

-1 nui 314e+04 / 25
- pO 4216+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 4

SRR bbze+u4/25
- po 4265+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(C, bch) (54,15

T nui4zoe+ud [ 25
= pO 4205+ 0.0
p1 35+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5,5,0)
T r

[

8038 /25
4184+ 0.0
-35.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (55,4

T rnuiLbl/e+ud [ 25
4183+ 0.0
-36.16 + 0.00

[y pO
pl
- C =
= T
TP delay [ns]
TVC(cbch) (5 5,8

T, 3rve+u4 | 25
4223+ 0.0
-36.8+ 0.0

1
100

TP delay [ns]

TVC(cbch) (5,5,12

A1,

rspe+u4 /25
4225+ 0.0
-35.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,1)

41e+u4 /25
4204+ 0.0
-36.87 + 0.00

PSR

e, po
pl

TP delay [ns]

TVC(c,b ch) (5,5,5

X~ g,

/b4e+04 | 25
4191+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (5 59

- pO

pl

-1 nuiLy1ze+us / 25
4242+ 0.0
-36.22+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 5 13

Tinuin4ie+ud [ 25
4222+ 0.0
-36.45+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,5,2)

F=. po

A~ 1 nui dz0e+04 [ 25
4186+ 0.0
-36.16 + 0.00

pl

TP delay [ns]

TVC(cbch) (55,6

- rnuz,013e+u4 / 25
4186+ 0.0
-36.51+ 0.00

TP delay [ns]

TVC(eb,oh)=(5, 5, 10

F= F’O

pl

-1 U, 384e+04 25
4235+ 0.0
-36.14 + 0.00

TP delay [ns]

TVC(cbch) (55,14

F= PD
L pl

-1 glze+ud [ 25
4232+ 0.0
-36.61+ 0.00

TP delay [ns]
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2000

1000

4000
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2000

1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (5,5,3)

buse+u4 / 25
4212+ 0.0
-36.38+ 0.00

PSR

po
pL

TP delay [ns]

TVC(c,b ch) (5 57

e, pO
p1

“rnuz0z/e+u4 [ 25
4217+ 0.0
-37.19+ 0.00

50 00

TP delay [ns]

TVC(c,b ch) (5, 5

T, 4/be+u4/25
4246+ 0.0
-36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 5 15

T nuia4ye+u4 [ 25
4225+ 0.0
-35.82+ 0.00

TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561) TVC(cbch)(562) TVC(cbch)(563)
A™ i 53ve+u4 / 25 A~ 1w a8ye+ud | 25 A” 1L Sose+ud [ 25 A~ 1 bale+ud | 25
4000 =— PO 4181+ 0.0 4000 =— po 4173+ 0.0 4000 _=- po 4193+ 0.0 4000 un, po 4201+ 0.0
pl -34.85+ 0.00 pl -34.48 + 0.00 F pl -34.51+ 0.00 pl -34.92 + 0.00

- 3000

3000 E 3000 [ - 3000 4

2000 4 2000 [ - 2000~ - 2000

1000 ] ol C = 29.00 [ps/ch] ] wol ¢ = 28.98 [ps/ch] ]
% e : & ] % 4
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (56,4 TVC(cbch) (56,5 TVC(cbch) (56,6 TVC(c, bch) (56,7

- i by1e+ud / 25 4000 T bz1e+u4 [ 25 -1 nuiLgb4e+u4 [ 25 =1 boge+u4 / 25
4000, PO 4193+ 0.0 DO 4189+ 0.0 4000 E 4209+ 0.0 4000 e, PU 4199+ 0.0
pl -35.35+ 0.00 pl -35.66 + 0.00 I -36.3+ 0.0 pl -35.17 + 0.00

3000 - 3000 - 3000 - 3000 1
2000~ E 2000 - 2000 ' 2000 [ E
T ] 1000 E 10001 ] woor C = 28.43 [ps/ch 7]
1 1 " o 1 1 - 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(5,6,8) TVC(eb,oh)=(5,6,9) TVC(eb.oh)=(5, 6, 10) TVC(e.heh)=(5, 6, 11)
T g bsge+u4 / 25 ~ 1 nuiL Zbye+us / 25 ~ 1 nuzpbae+ud | 25 T nui g1ze+u4 /25
4000 f, PD 4214+ 0.0 4000 fo, DO 4233+ 0.0 4000 __- DO 4248+ 0.0 4000 o, pO 4237+ 0.0
pl -34.57 + 0.00 pl -34.45 + 0.00 r pl -35.64 + 0.00 pl -34.49 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 B 2000 [ E 2000 2000 [

1000 1000

] w0 C = 29.03 [ps/ch] 1or C =29.00 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (5,6, 12 TVC(cbch) (5,6,13 TVC(cbch) (56,14 TVC(C, bch) (5,6, 15

T 1L yoze+u4 / 25 T inuig1oe+ud [ 25 1 nuiLpy4e+u4 [ 25 T nui v4ze+u4 [ 25
4000 k=, PO 4234+ 0.0 4000 e, PO 4227+ 0.0 4000 - PD 4231+ 0.0 4000 po, PO 4237+ 0.0
pl -36.38 + 0.00 pl -36.35+ 0.00 r pl -36.73+ 0.00 pl -36.75+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(570) TVC(cbch)(57l) TVC(cbch)(572) TVC(cbch)(573)
A™ 1L z4ne+04 [ 25 AT z31e+ud | 25 AT 1w zuse+ud [ 25 A~ 1w asse+ud | 25
4000 4214+ 0.0 4000, po 4227+ 0.0 4000 fm PO 4233+ 0.0 4000 fr, PO 4250 0.0
-35.11+ 0.00 pl -35.69 + 0.00 - pl -35.1+ 0.0 pl -35.62+ 0.00

- 3000

3000 - 3000 -1 3000 = N

2000 — 2000 1 2000 2000

1000 - 1000 1000

] wol- C = 28.49 [ps/ch

1 1 1 1 L 1 1 1 1 1
50 100 50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (57,4 TVC(cbch) (5.7, TVC(cbch) (57,6 TVC(c, bch) (5.7,

S 2ule+UA 125 Tnar J)UZE*U4/25 ~ 24/e+U4 125 Trnar d)stH)A/ZS
4000 pO 42445 00 4000 e, pO 424700 4000 fem, pO 42451 0.0 4000 fr, pO 42531 0.0
pL_ -3521% 000 Pl -3551% 0.00 [ L -3573% 000 Pl -35.44%000
3000 ] 3000 - 3000 5 3000 | 4
2000 ] 2000 4 2000 . 2000 |- ]
1000 ] w000 C ] wor C =27.99 [ps/ch ] woF C = 28.22 [ps/ch ]
1 - o 1 . 1 -
50 00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 7,8 TVC(cbch) (5 7,9 TVC(cbch) (5, 7 10 TVC(cbch) (5, 7

1 nuiz.4upe+u4 / 25 -1 naiy.guse+ud [ 25 T 1nuiz.azoe+u4 | 25 S rnung, /44e+u4/25
4000 B po 4222+ 0.0 4000 pO 4247+ 0.0 4000 R, po 4269+ 0.0 4000 o, p0 4261 0.0
pl -36.26 + 0.00 pl -36.54 + 0.00 r pl -36.34 + 0.00 pl -35.48 + 0.00

3000

1 3000 -1 3000 =1 3000 -

2000 B 2000 = 2000 2000

1000 e 1000 — 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(57l ) TVC(cbch)(5713) TVC(cbch)(57l4) TVC(cbch)(5715)
T rnuiLsu/e+u4 /25 T inuiasse+ud [ 25 T pzie+ud /25 Tinuisr1e+ud /25
4000 pO 4268+ 0.0 4000 pO 4278+ 00 4000 fomm PD 4270+ 00 4000 fam, pO 4273£ 00
Pl -35.71 0.00 p1 -36.6 + 0.0 L pl -36.01+ 0.00 p1 -36.27 + 0.00

- 3000

3000 1 3000 -1 3000 .

2000 - 2000 T 2000 E 2000

1000 ] 1000 T 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0)

K71 nui ozae+V4 /25
po 4199+ 0.0
pl -36.32 0.00

TP delay [ns]

TVC(cbch) (58,4

T i/ (ge+u4 | 25
pO 4228+ 0.0
pl -35.62:+ 0.00

TP delay [ns]

TVC(cbch) (5 8,8

1 nuiLgzoe+u4 / 25
PD 4226+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(cbch) (5,812

T L4 roe+u4 [ 25
pO 4223+ 0.0
pl -34.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

AT 1 nuiLzyye+ud [ 25
Foaee po 4206+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,5

-1 nui /b4e+04 [ 25
[P, pO 4218+ 0.0
pL -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

T nug.n4/e+ud /25
- pO 4245+ 0.0
-35.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5.8,13

Tinai zse+ud [ 25
- pO 4224+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

- C = 28.38 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (58,6

K™ 1 nui4uie+ud /25
P, po 4212+ 0.0
- pl -35.24 + 0.00

T i 741e+04 [ 25
pO 4229+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

1000

T nuzpsge+ud | 25
. po 4266+ 0.0
- pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (5,814

T 1nuiLpsse+u4 / 25
- pD 4228+ 0.0
L -34.34+ 0.00

- C = 29.12 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3

AT 1L usze+ud [ 25
=, po 4211+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

=1 nui bobe+u4d / 25
- pO 4243+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 11

T nui slie+ud [ 25
4257+ 0.0
-34.76 + 0.00

[ C=28.77 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (5.8,15

71 nui pbae+ud / 25
e pO 4242+ 0.0
p1 -36.03+ 0.00

TP delay [ns]



TVC(c,b,ch)=(5,9,0)
T r

o wz02125
4000 & PO 4185+ 0.0
-32.92:+ 0.00
3000~ 7
2000~ 7]
10 C = 30.38 [ps/ch] ™. ]
-+ o
TP delay [ns]
TVC(cbch) (5.9.4)
T i zz3e+u4 [ 25
4000 pO 4227+ 0.0
p1 -33.51 0.00
3000~ 71
2000~ 7]
1000~ C = 29.84 [pS/Ch] - 7]
% o
TP delay [ns]
TVC(cbch) (5 9,8)
©1nuz194e+04 / 25
4000 [ pD 4207+ 0.0
pl -32.97 + 0.00
3000~ 7]
2000 = 71
W C =30.33 [ps/ch] ™, 7
1 1 -
b 50 00
TP delay [ns]
TVC(cbch) (5.9,12)
T, (48e+04 / 25
4000 fon, po 4255+ 0.0
pl -35.08 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,1)

AT 1 nuiLUZoe+u4 [ 25
P po 4183+ 0.0
pl -32.93+ 0.00
[ C =30.36 [ps/ch] % ]
L L5
50 100
TP delay [ns]

TVC(c,b ch) (5 9,5

“nui1/ze+04 [ 25
4223+ 0.0
-33.04 % 0.00

- PO
pL
- - -
[ C =30.27 [ps/ch] ™ ]
& o
TP delay [ns]

TVC(c,b ch) (5 9,9

T naiyroe+ud [ 25
pO 4231+ 0.0
p1 -34.42+ 0,

34.42 + 0.00

[ C =29.05 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (5, 9 13

== pO

p1

Tonan g oze+ud [ 25
4254+ 0.0
-34.6 + 0.0

- C =28.90 [ps/ch]

50

il
100

TP delay [ns]
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1000

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (5,9,2)

1000

K™ | Uﬁ(eﬂ]m‘
-I'_ po 4198+ 0.0
[ pl -32.79 + 0.00
 C=30.50 [ps/ch] ™ ]
C 5(') 10'0
TP delay [ns]
TVC(cbch) (5,9,6)
~ 1 nui 3pbe+04 / 25
-, pO 4220+ 0.0
[ pl -34.62 :;‘
- C =28.88 [psichPN, 1

TP delay [ns]

TVC(eb,oh)=(5, 9, 10

0

9, 10)
1 nuig 394e+u4 | 25
. po 4241 0.0
[ p1 -33.02 % 0.00
[ C=30.29 [ps/ch] ™, 7
= o

TP delay [ns]

TVC(Cbch) (5, 9 14

pD

pl

-1 plie+ud [ 25
4265+ 0.0
-35.82+ 0.00

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (5,9,3)

po

p1

A~ 1 nuiLzzoe+ud [ 25
4204+ 0.0
-33.14+ 0.00

[ C=30.17 [ps/ch] ™. 7]
, o
TP delay [ns]

TVC(c,b ch) (5 9,7

- pO
p1

-1 nui bzle+u4 / 25
4233+ 0.0
-34.06 + 0.00

[ C=29.36 [ps/ch] ™, ]
- o
TP delay [ns]

TVC(c,b ch) (5, 9

T, 1Uze+u4/25
4234+ 0.0

33.23+ 0.00

[ C =30.10 [ps/ch]

_L
50

1
100

TP delay [ns]

TVC(c,b ch) (5, 9 15

- pO

- plre+ud [ 25
4263+ 0.0
-34.68 + 0.00

r C =28.84 [ps/ch]

50

1
100

TP delay [ns]



4000
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1000

4000

3000
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1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 10 0)

- 1 sBae+U4 [ 25
4201+ 0.0
p1 -35.99+ 0.00

TP delay [ns]

TVC(Cbch) (5, 10 4

Tz zo3e+ud | 25
- pO 4234+ 0.0
p1 -36.84 + 0.00

- C N
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (5, 10,8 )
- g Bage+ud / 25
= po 4233+ 0.0
pl -36.55+ 0.00

TP delay

TVC(Cbch) (5, 10 12

[ns]

- 1 nuiz,195e+04 [ 25
4244+ 0.0
-34.7+ 0.0

I C =28.82 [ps/ch]

L n n n n 1
50 100

TP delay

[ns]
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1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

X

F.... po

pl

1 nuiLBY/e+u4 /25
4204+ 0.0
-36.28 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (5, 10 5

T nan2,04e+04 1 25
k. po 4220+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(eb.oh)=(5, 10,9

F pO

pl

~ 1 nui 35ze+U5 / 25
4269+ 0.0
-38.46 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5, 10 13

e, pO
p1

T zoie+ud /25
4259+ 0.0
-36.07 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,10,2)

A

o PO

pl

1 nui y4se+ud | 25
4211+ 0.0
-36.61+ 0.00

TVC(Cbch) (5,10,3)

A~ 1 nuiz,103e+U4 [ 25
4216+ 0.0
pL -35.92:+ 0.00

4000 [

po

3000

2000

1000

TP delay [ns]

TVC(Cbch) (5, 10 6

- 1nuz,uzze+u4 | 25
pO 4234+ 0.0
p1 -37.73+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 10 7

-/ ui.a2ae+04 | 25
- pO 4245 0.0
p1 -37.26+ 0.00

1000

50 100
TP delay [ns]

TVC(e,b,ch)=(5, 10, 10

1000

0

= o

- 1nug z3le+ud [ 25
4275+ 0.0
-37.5+ 0.0

pl

TP delay [ns]

TVC(CbCh) (5, 10 14

~ o
pl

1 i gose+u4 [ 25
4257+ 0.0
-35.41+ 0.00

TP delay [ns]

3000

2000

1000 C

50 100
TP delay

TVC(Cbch) (5, 10 11

4000 e, pO

[ns]

T inan 2 o9e+u4 | 25
4286+ 0.0
-37.8+ 0.0

3000

2000

1000

TP delay

TVC(cbch) (5, 10 15

4000 fm pO
p1

[ns]

- i yore+ud [ 25
4257+ 0.0
-35.6 + 0.0

3000

2000

1000

TP delay

[ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

AT inui1sze+04 /25
P po 4174+ 0.0
p1 -34.82+ 0.00

TP delay [ns]

TVC(cbch) (511,4

Srnuan o rge+u4 /25
P, pO 4205+ 0.0
pl -36.26+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

T 1L, rg8e+U4 | 25
- po 4210+ 0.0
pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 12

AT 1nuiLso/e+u4 /25
= po 4227+ 0.0
pl -34.83+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5, 11 1)

-1 i udbe+Ud 25
P e pO 4174+ 0.0
pL -35.06 + 0.00

1 1
50 100

TP delay [ns]

TVC(cbch) (5 11,5

=1 nui Byye+u4 / 25
- pO 4220 0.0
pL -36.53+ 0.00

TP delay [ns]

TVC(cbch) (5, 11 9

S Hquzae+u4/25
- pO 4247+ 0.0
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3000
2000

1000

TVC(cbch) (6,2,2)

- C = 28.34 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (62,6

A~ 1nuzu4/e+04 /25
_E_ po 4207+ 0.0
o pl -35.28 + 0.00

T gy /e+ud [ 25
- pO 4233+ 0.0
[ pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (6, 2 10

Tz roe+u4 /25
__ DO 4263+ 0.0
L pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (6,2 14

~ 1z, 158e+04 / 25
. pD 4223+ 0.0
L pl -35.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

po
pL

AT rnuzuore+ud [ 25
4211+ 0.0
-36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

o, pO

-1 nuz.014e+04 / 25
4248+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (6, 2

- pO

T, ibbe+l}4/25
4275+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(C, bch) (6,215

T inuiLyg/e+ud [ 25
4242+ 0.0
-35.66 + 0.00

TP delay [ns]



TVC(ebeh)=(6,3,0) TVC(ebeh)=(6,3, 1) TVC(ebeh)=(6,3,2) TVC(ebeh)=(6,3,3)
A~ 1 puse+ud [ 25 A~ 1 ozoe+ud [ 25 A~ 1L 4p4e+04 [ 25 A~ 314e+U4 [ 25

4000, PO 4195+ 0.0 4000 po 4200+ 0.0 4000k, po 4213+ 0.0 4000 foe, po 4215 0.0
pl -36.59 + 0.00 pL -36.82 + 0.00 [ pl 3664+ 000 pL -35.7:+ 0.0

3000

- 3000 =1 3000 -1 3000 -1

2000 -1 2000 = 2000 = 2000

1000 — 1000 B 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (63,4 TVC(cbch) (6.3, TVC(cbch) (63,6 TVC(c, bch) (6,37

“ g \J)AleﬂJA 125 T rnar S)de+U4/25 “ g &l)bue+U4 125 Sonarg, /)dbE+04/25
4000 pO 4228+ 0.0 4000 pm, pO 4231% 0.0 4000 e, pO 4236+ 0.0 4000 fas pO 4246+ 0.0
Pl -37.36+ 000 Pl -36.330.00 [ PL_ -36.04% 0.00 Pl 3563 0.00
3000 [ B 3000 E 3000 — — 3000 [ E
2000 - 2000 ] 2000 . 2000 b
woo- C = 26.77 [ps/c 7 1000 E wool- C = 27.74 [ps/ch ] woor C = 28.06 [ps/ch ]
o | ! I L = 1 z
50 00 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,3,8) TVC(e.c)=(6,3,9) TVC(eb.ch=(6, 3, 10) TVC(ebeh)=(6, 3, 11)
©1nuz,ubse+u4 [ 25 T rpe+u4 [ 25 T rnub41e+04 / 25 <1 babe+u4 [ 25
4000 fame, pO 4234+ 0.0 4000 fme pO 4251+ 0.0 4000 fome, DO 4281+ 0.0 4000 fe p0 4260+ 0.0
359+ 0.0 Pl -35.35:0.00 L PL_ -35.81% 0.00 -35.6 0.0

3000

T 3000 - 3000 - 3000 .

2000 T 2000 - 2000 N 2000

1000 1000 - 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,3 12 TVC(cbch) (6,313 TVC(cbch) (6,3 14 TVC(C, bch) (63,15

T rnuiLygse+u4 [ 25 TinuiLyuse+ud [ 25 T rnuiLys1e+u4 / 25 -1 nuiyqoe+ud [ 25
4000 [, pO 4234+ 0.0 4000 o, pO 4222+ 0.0 4000, PD 4224+ 0.0 4000 [, pO 4241+ 0.0
pl -35.62 + 0.00 pl -34.98+ 0.00 F pl -36.05 + 0.00 pl -36.29 + 0.00

= 3000

3000 — 3000 - 3000 -

2000 - 2000 - 2000 =1 2000

1000 1 1000

] 1000 - 1000[-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6.4,0)

T g sse+ud /25
= pO 4196+ 0.0
p1 -35.88 + 0.00

TP delay [ns]

TVC(cbch) (64,4

- i 3o e+04 [ 25
.. po 4185+ 0.0
pl -33.95+ 0.00

[ C =29.45 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 4,8

-1 zae+Ua [ 25
- pD 4188+ 0.0
p1 -35.41+ 0.00

TP delay [ns]

TVC(cbch) (64,12

T rnuiLg34e+04 / 25
= po 4221+ 0.0
pl -33.44+ 0.00

[C =29.90 [ps/ch] ™. ]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

X 1L dsierud | 25
. po 4176+ 0.0
pL -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 nuiL 2ype+u4 / 25
4184+ 0.0
-34.7+ 0.0

50 150
TP delay [ns]

TVC(c,b ch) (6 4,9

~ 1 nuis, 7bbe+ud / 25
= po 4207+ 0.0
p1 -35.04 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 4 13

T nai zyge+ud 25
= pO 4219+ 0.0
pl -34.56 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

:

1000;- C =28.82 [ps/ch] - ‘
| 5 T

4000

3000

2000

1000

TVC(cbch) (6.4,2)

TP delay [ns]

TVC(cbch) (64,6

T Lsze+ud /25
.. pO 4190+ 0.0
[ p1 36+ 0.0

3000

- i b33e+04 / 25
e pO 4188+ 0.0
[ pl -35.18+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 4, 10

- iz z5ue+ua [ 25
= pO 4240+ 0.0
[ pL 347+ 0.0

TP delay [ns]

TVC(cbch) (64,14

- 1 s8oe+u4 [ 25
- 4228+ 0.0
[ -33.57+ 0.00

L C=20.79 [ps/ich] ™. 1

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

A 1L 3rae 04 ] 25
e, po 4205+ 0.0
pL -35.59+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

= 1 nui Syge+ud | 25
= po 4200+ 0.0
pl -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T 4bue+u4/25
== 4225+ 0.0
-33.73+ 0.00

[ C =29.65 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 4 15

- i sove+ud [ 25
e 4224+ 0.0
-34.44 + 0.00

[ C =29.04 [ps/ch] ]

PR R SR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1w sure+u4 /25
[Fones, Y 4202+ 0.0
pl -35.63 + 0.00

TP delay [ns]

TVC(cbch) (65,4

Trna28re+04 /25
Fome, pO 4197+ 0.0
pl -34.05+ 0.00

[ C =29.37 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

Tnuz31/e+04 /25
- pO 4216+ 0.0
Pl -35.68+ 0.00

TP delay [ns]

TVC(cbch) (6,5,12

T rnuiLg3se+u4 / 25
4226+ 0.0
-35.51+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

AT nuiLszse+u4 [ 25
[, po 4214+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

T U Zge+u4 /25
I 4194+ 0.0
-33.88:+ 0.00

[ C =29.51 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

~ 1 nug.3use+u4 / 25
- DO 4213+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(cbch) (6,5,13

T ruiz.u/be+u4 [ 25
- pO 4248+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,52)

X~ 1w br4e+U4 /25
Faase. po 4225+ 0.0
+ pl -36.36 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,56

T by /e+ud [ 25
- pO 4209+ 0.0
L PL_ -34.02%0.00

- C = 29.39 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

T nugsble+ud / 25
- DO 4242+ 0.0
3 Pl -3558+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

T zzae+u4 | 25
= PD 4221% 0.0
F pl -35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3)

i Colerud | 25
™. pO 4211+ 0.0
pl -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

- g base+ud [ 25
- PO 4210+ 0.0
Pl -34.95: 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

aEALVR 5UBe+U4/25
- pO 4248+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

-1 1 oe+ud [ 25
- pO 42351 0.0
pl -35.95+ 0.00

TP delay [ns]



TVC(c,b Ch) (6,6,0) TVC(c,b Ch) (6,6,1) TVC(c,b Ch) (6, 6 2) TVC(c,b Ch) (6,6,3)
K1 do1e+04 ] 25 x-S e+Ud ] 25 i Laserud ) 25 x-S 14e+Ud ] 25
4000k, po 4197+ 0.0 4000, po 4207+ 0.0 a0, pO 4202+ 0.0 4000 R, po 4214% 0.0
Pl -35.28+0.00 pl -35.7+ 0.0 [ Pl -35.33% 0.00 pl 3527 0.00
3000 - 3000 - 3000 - 3000 B
2000 g 2000 E 2000 -

-1 2000

1 ool C = 28.31 [ps/ch

1000 ] . wol C = 28.35 [ps/ch ]
1 1 1 1 - 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.6,4) TVC(cbch) (6.6,5) TVC(cbch) (6.6,6) TVC(cbch) (6,6,7)
-1 i buye+ud / 25 Cnun 1 ze+u4 [ 25 © L4 r8e+04 [ 25 S nun 1 8oe+u4 [ 25
A000FL, pO 4182+ 0.0 000, pO 4207+ 00 4000E_, pO 41941 00 4000 o, pO 4207+ 00
Pl -34.89+ 0.00 Pl -36.17% 0.00 3 pl -35.34+ 0.00 Pl -35.77%0.00
3000~ - 3000 B s000 ] 3000 7
2000 ] 2000 g 2000 ] 2000 4
w000 C ] 1000 ] wol- C = 28.30 [ps/ch . wop C ]
1 1 " 1 1 ~- 1 -
50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,6,8) TVC(c,b ch) (6,6,9) TVC(c,b, ch) (6,6,10) TVC(c,b ch) (6,6,11)
Tnan2.z3e+04 /25 T rnuiLu4re+us /25 ©1nu.a5ze+04 [ 25 T ru.415e+04 [ 25
4000 pO 4215+ 0.0 4000 e, pO 4247+ 0.0 4000 [, DO 4258+ 0.0 4000 [ p0 4254+ 0.0
PL 3547+ 0.00 Pl -34.74% 0.00 3 pl 3578+ 0.00 35 0.0
3000 E 3000 [ - 3000 — 3000 E
2000 - 2000 |- - 2000 3 2000 4

1000 1000 1000

] 100 C = 28.79 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(661 ) TVC(cbch)(6613) TVC(Cbch)(661 ) TVC(cbch)(6615)
T L sbze+u4 [ 25 Ty 4e+04 [ 25 ~1nuiLoyze+u4 [ 25 T ) be+ud /25
4000 PO 4233+ 0.0 4000 pO 4226 £ 0.0 4000 - PD 4223+ 0.0 4000 4237+ 0.0
pl -35.64 + 0.00 pl -35.48 + 0.00 I pl -35.34 £ 0.00 -36.01+ 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 [~

-1 1000 - 1000

PR I S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(670) TVC(cbch)(671) TVC(cbch)(672) TVC(cbch)(673)
A™ 1L 484e+04 [ 25 A~ 1L plye+ud / 25 S 1 sre+ud [ 25 AL groe+ud [ 25
A000F po 4186+ 0.0 400, PO 4209+ 0.0 4000 o, po 4215+ 0.0 4000 PO 4215+ 0.0
pl -35.29+ 0.00 pl -36.51+ 0.00 F pl -36.1+ 0.0 pl -35.36 + 0.00

- 3000

3000 = 3000 =1 3000 - -1

2000 — 2000 7] 2000 ] 2000 [

1000 B 1000 7] 1000: oo C = 28.28 [ps/ch ]
1 _1 1 -
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (67,4 TVC(cbch) (6.7, TVC(cbch) (67,6 TVC(c, bch) (6.7,

“ g u)a‘_ieﬂjd 125 “rnarg, /)145+04/25 ~ g 2::4e+u4 125 Sonarg, /)l4E+l)4/25
4000 pO 4199+ 0.0 4000k, pO 4210+ 0.0 4000 fo pO 4217+ 0.0 4000 R pO 4217+ 0.0
pl -34.59 + 0.00 pL -35.17 + 0.00 3 pl -34.87 % 0.00 pL -34.36 + 0.00
3000~ - 3000 E 3000 - - 3000 -
2000 - E 2000 B 2000~ 1 2000 [ -
10001 ] 1000 . woor C = 28.68 [ps/ch ] or € =29.10 [ps/ch] ]
1 L= [ 1 1 =] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6 7,8 TVC(cbch) (6 7,9 TVC(cbch) (6, 7 10 TVC(cbch) (6, 7

T zole+u4 /25 ~ 1 nuy.obae+ud [ 25 T a2 z01e+04 / 25 T o 539&*‘[}4/25
4000 b, PD 4207+ 0.0 4000 b, DO 4225+ 0.0 4000 - DO 4251+ 0.0 4000 fo, pO 4260+ 0.0
pl -35.81+ 0.00 pl -36.25+ 0.00 r pl -36.94 + 0.00 pl -37.34+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(671 ) TVC(cbch)(6713) TVC(cbch)(67l ) TVC(cbch)(6715)
1 nuizyobe+u4d / 25 T inuizu4/e+ud [ 25 T i, ru4e+04 [ 25 T nai szze+u4 [ 25
4000 fm, pO 4254+ 0.0 4000 [, pO 4248+ 0.0 4000 fm, PD 4251+ 0.0 4000 [, pO 4261+ 0.0
pl -36.26 + 0.00 pl -37.03+ 0.00 I pl -36.34 + 0.00 pl -36.56 + 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

X~ 1w 1o4e+04 [ 25
e po 4182+ 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(cbch) (6,84

- 1 1uiL.448e+04 / 25
o, po 4267+ 0.0
pl -38.73+ 0.00

50 10'0 =
TP delay [ns]

TVC(cbch) (6 8,8

- i bone+ud [ 25
= pD 4211+ 0.0
p1 -34.93 0.00

TP delay [ns]

TVC(cbch) (6,812

- 1 so1e+ud [ 25
= po 4221% 0.0
p1 -35.68+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81)

T zzse+ud [ 25
F.. pO 4180+ 0.0
p1 -34.62+ 0.00

L 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

-1 nu 18Ye+u4 / 25
- pO 4250+ 0.0
pL -37.54+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 8,9

~ 1 nug.zyse+ud [ 25
= pO 4220+ 0.0
p1 -34.44 + 0.00

[ C =29.03 [ps/ch] 7]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

T inai z43e+u4 / 25
= pO 4233+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

A1z ule+ud /25

4204+ 0.0
-34.91+ 0.00

P w0
L pl
- C = 28.65 [ps/ch 1

+ s

TP delay [ns]
TVC(cbch) (6,8,6)
=1 nurg 496e+04 [ 25

pe- pO 4261*7‘
N pl -38.02 + 0.00
- C =26.30 [ps/c .

=+ o

TP delay [ns]

TVC(eb,ch)=(6, 8, 10

- b

-1 nug, z90e+04 / 25
4253+ 0.0
-35.15+ 0.00

pl

TP delay [ns]

TVC(cbch) (6,814

~ 1 nuiL4npe+U4 / 25
4221+ 0.0
-34.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6,8,

po
pL

3

A1z zeye+ud | 25
4207+ 0.0
-35.61+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6 8,7

- pO
pl

- nu 38Ye+u4 / 25
4281+ 0.0
-37.76 + 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

T UHE+U4/25
4259+ 0.0
-34.9 £ 0.0

1
100

50
TP delay [ns]
TVC(c,b ch) (6, 8 15

pO
p1

- i uyse+u4 [ 25
4230+ 0.0
-35+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0)

A7 1 nui ygye+u4 / 25
4213+ 0.0
-36.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (69,4

T i, 739e+04 [ 25
pO 4236+ 0.0
pl -35.06+ 0.00

% T
TP delay [ns]
TVC(cbch) (6 9,8

T rnuzbse+u4 [ 25
po 4220+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (6,9,12

[ C =29.43 [ps/ch]

T rnuiLb4ze+04 /25
pO 4237+ 0.0
pl -33.98 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

A1 L Base+Ud | 25
s, po 4218+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

-1 nui by re+u4 / 25
4249+ 0.0
-35.7 £ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 9,9

<1 nub.Ubbe+ud / 25
po 4232+ 0.0
pl -35.79 + 0.00

TP delay [ns]

TVC(cbch) (6,9,13

Tinan 1 b4e+u4 /25
pO 4233+ 0.0
pl -35.15+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000

2000

TVC(cbch) (6,9,2)

A7 1 nun suye+ud / 25
P, po 4236+ 0.0
- pl -37.54+ 0.00

3000

TP delay [ns]

TVC(cbch) (69,6

1000

T nun184e+04 /25
- pO 4258+ 0.0
- pl -35.62 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 9 10

T g18e+u4 /25
-, po 4259+ 0.0
- pl -36.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,9,14

1000

Ty r1e+ud /25
. pD 4248+ 0.0
- pl -36.5+ 0.0

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3)

AT 1 nuiLbroe+ud /25
po 4241+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

-1 nui 483e+04 / 25
pO 4274 0.0
pL -36.63+ 0.00

TVC(c,b ch) (6, 9

50 1(;0
TP delay [ns]

T, 1/9e+u4/25
pO 4270+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(C, bch) (69,15

T nai s4ze+04 /25
po 4257+ 0.0
p1 -36.45+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

~ L pove+u4 / 25
- pO 4204+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (6.10,4

- i BBle+ud / 25
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4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,0)

A

P, po

pl

1 nuip4se+ud | 25
4174+ 0.0
-35.55+ 0.00

TP delay [ns]

TVC(cbch) (7.1,4

- i 625e+04 / 25
[, pO 4221+ 0.0
pl -35.94 + 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 1,8

T L, rgoe+u4 | 25
[oese, PD 4225+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

12

-1z, 1ise+u4 [ 25
4223+ 0.0
-35.11+ 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,1)

Fomes po

pl

AT 1 nuiLBz4e+U4 [ 25
4189+ 0.0
-36.4 £ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (7 1,5

- nui B3/e+u4 / 25
[, pO 4216+ 0.0
pL -35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

~ 1 nug boye+ud 25
- po 4236+ 0.0
p1 -34.46 + 0.00

[ C =29.02 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (71,13

T nuizu4ze+ud [ 25
4220+ 0.0
-35.34+ 0.00

TP delay [ns]

TVC(cbch) (7,1,2)

4000

3000
2000

1000

ana po

K™ 1 nuiyzae+u4 /25
4190+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (7,1,6

4000

3000

2000

1000

- C = 28.07 [ps/ch

= 1L bu8e+u4 [ 25
pO 4230+ 0.0
pl -35.62+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(7, 1, 10

4000

3000

2000

1000

- ¢ =30.05 [ps/ch] ™. 1

© 1 nuig.zove+ud | 25
po 4249+ 0.0
pl -33.27 + 0.00

0

50

1
100

TP delay [ns]

TVC(cbch) (7.1,14

4000

3000
2000

1000

~ 1 nuiLpyse+ud / 25
4224+ 0.0
pl -35.73+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3)

o, pO

p1

AT rnuiLysie+ud [ 25
4220+ 0.0
-36.15+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 1,7

- 1nui /yae+u4 [ 25
- pO 4237+ 0.0
pL -35.86+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 1

1)
~1nuiz.zyze+u4 [ 25
- pO 4261+ 0.0
p1 -34.61+ 0.00

[ C =28.89 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (7.1,15

T inuiLyrse+ud [ 25
4227+ 0.0
-35.18 + 0.00

TP delay [ns]



TVC(cbch)(720) TVC(cbch)(721) TVC(cbch)(722) TVC(cbch)(723)
AT i 3rve+ud [ 25 A~ 1w boye+ud [ 25 A™ 11 49pe+u4 [ 25 A~ 1L byre+ud [ 25

A000E, po 4204+ 0.0 a00E, po 4188+ 0.0 4000, po 4197+ 0.0 4000, PO 4210+ 0.0
pl -36.12+ 0.00 pl -36.08 + 0.00 : pl -36.46 i_0.00 pl -36+ 0.0

3000

- 3000 =1 3000 -

-1 3000

2000 - 2000 -1 2000 2000

1000 - 1000 - 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (72,4 TVC(cbch) (72,5 TVC(cbch) (7,2,6 TVC(c, bch) (7.2,7

T nu 134e+04 / 25 T 3rye+ud [ 25 =1 nuiL y4ve+04 [ 25 T 313e+04 [ 25
4000, pO 4184 00 000, pO 4204+ 00 4000 e, pO 4186+ 0.0 4000 e, pO 4209+ 0.0
pl_ 3519+ 000 Pl -36.02+000 [ PL_ 3446+ 0.00 Pl 3591+ 000

3000 ] 3000 4 3000 ] 3000 ]
2000 ] 2000 - 2000 ] 2000 g
1000 C . 1000 - 1000'_c =29.02 [pS/Ch] ] 000 i
“-, L --\- 1 -
1 1 1 1 1 1
50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebeh)=(7,2,8 TVCebeh)=(7,2,9 TVC(ebeh)=(7,2, 10 TVC(eb.eh=(7, 2,

T rnuizuz1e+u4 /25 T nuigbuse+ud / 25 T rnuiz4z1e+04 /25 o ume+u4/25
4000 f, PD 4231+ 0.0 4000 fo, DO 4236+ 0.0 4000 - DO 4252+ 0.0 4000 4257+ 0.0
pl -37.37 + 0.00 pl -35.39 + 0.00 I pl -36.68 + 0.00 -37.51+ 0.0

- 3000

3000 . 3000 - 3000 -1

2000 - 2000 - 2000

2000

1000 1000 - 1000 X —_ 1000

0 0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,212 TVC(cbch) (7.2,13 TVC(cbch) (7,214 TVC(C, bch) (7.2,15

4000 T Ly roe+u4 / 25 4000 T nuiy4se+ud [ 25 1 nuizyove+ud | 25 T nui rbye+ud [ 25
= pO 4212+ 0.0 = pO 4210+ 0.0 4000 PD 4223+ 0.0 4000, PO 4228+ 0.0
pl -35.97 + 0.00 pl -35.73+ 0.00 r pl -35.42+ 0.00 pl -35.54+ 0.00

3000

N 3000 _ 3000 -1 3000 -1

2000 . 2000 _ 2000 -1 2000

1000 . 1000 7 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

A~ 1 nui Bore+ud [ 25
e po 4183+ 0.0
p1 -35.89+ 0.00

TP delay [ns]

TVC(cbch) (7.3,4

- Ui pbBe+u4 [ 25
Foce po 4176+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(cbch) (7 3,8

S rnunZ rge+u4 [ 25
4192+ 0.0
-36.1+ 0.0

1
50 00

TP delay [ns]

TVC(Cbch) (7, 3 12

“inu 2 1oe+u4 [ 25
pO 4213+ 0.0
pl -36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (73,1

X1 Sazerud | 25
e po 4193+ 0.0
pL -37.1 0.0

[ C =26.95 [ps/c 7]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 3,5

-1 nui ggle+u4 / 25
o, DU 4186+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

~ 1 nuiL 1bse+u5 / 25
= pO 4211+ 0.0
p1 -36.64 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 3 13

T inuz.zive+ud [ 25
- pO 4204+ 0.0
pl -36.17 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (7,3,2)

TP delay [ns]

TVC(cbch) (73,6

A~ 1wz, ize+ud | 25
F.... po 4199+ 0.0
[ p1 -36.19+ 0.00

3000

1 nuiL bbbe+ud / 25

E. pO 4190 0.0
[ pl -35.79+ 0.00

TP delay [ns]

TVC(eb,oh)=(7, 3, 10

1 nug.p44e+04 [ 25

- po 4230+ 0.0
X pL 37+ 0.0

TP delay [ns]

TVC(c,b Ch) (7, 3 14

- nuizzilerud [ 25
F pD 4208+ 0.0
[ p1 -35.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (73,3

A~ 1 nuizU15e+ud [ 25
E po 4199+ 0.0
pL -36.38:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

- 11Uz Ubse+u4 / 25
- pO 4194+ 0.0
p1 -35.31% 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

T, 4a/e+u4/25
= po 4237+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 3 15

- rnuzurve+ud [ 25
pO 4221+ 0.0
p1 -35.83 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0

AT inuLsize+04 /25
- po 4186+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (7.4,4

- i b30e+u4 / 25
e, pO 4208+ 0.0
p1 -35.64 + 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 4,8

T rnuzyzze+04 | 25
4211+ 0.0
-34.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,4,12

©1nuiz.44e+04 | 25
= po 4215+ 0.0
pl -35.99+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7.4,1

AT rnunL rsse+ud [ 25
- po 4182+ 0.0
pl -35.08 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 4,5

-1 nui bble+ud / 25
pO 4211 0.0
pL -35.24+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

1 nu.4n8e+u4 [ 25
po 4231+ 0.0
p1 -34.98 £ 0.00

TP delay [ns]

TVC(cbch) (7.4,13

T 1nuiz.zoze+ud [ 25
pO 4222+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000
3000

2000

1000

4000

2000

1000

TVC(cbch) (7.4,2)

A7 1 nui szoe+u4 /25
P po 4190+ 0.0
o pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,46

1000

-1 nunLB3be+u4 / 25
- pO 4222+ 0.0
[ pl -36.63+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(7, 4,10

- C = 28.82 [ps/ch]

T rnuizyzie+u4 | 25
po 4246+ 0.0
p1 -34.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7.4,14

Tz z1e+04 /25
- pD 4210+ 0.0
[ p1 -35.68 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,3

AT 1L ysye+ud [ 25
Pe-. po 4194+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

- 1nu 1use+u4 / 25
- pO 4230+ 0.0
pL -36.82:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 4

1)
Tonanz./re+u4 | 25
= pO 4249+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(C, bch) (7.4,15

T inuzasse+ud [ 25
- pO 4232+ 0.0
p1 -36.94 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0

K™ 1w 5z3e+04 [ 25
v Y 4185+ 0.0
pl -34.9+ 0.0

TP delay [ns]

TVC(cbch) (7,54

- i bole+ud / 25
e pO 4187+ 0.0
pl -34.47 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

1z z4pe+u4 | 25
[, PD 4204+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (7,5,12

~ i sbse+ud / 25
F= PO 4235+ 0.0
pl -36.45 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

A1 Ui 5sae+U4 [ 25
s Y 4191+ 0.0
pl -35.17 + 0.00

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (7 55

S nun 1b3e+u4 [ 25
4207+ 0.0
-35.5 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 59

T nu. 749e+04 | 25
- DO 4216+ 0.0
pl -36.73 + 0.00

TP delay [ns]

TVC(cbch) (7.5,13

-1 91evu4 /25
- pO 4236+ 0.0
pl -36.6 + 0.0

TP delay [ns]

4000

2000

1000

4000
3000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (7,5,2)

X~ 1L pole+U4 /25
[Foese. po 4210+ 0.0
L pl -35.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- C = 28.63 [ps/ch

=i bube+u4 / 25
pO 4203+ 0.0
pl -34.93:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

T nugusze+ud | 25
- DO 4236+ 0.0
I pl -36.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,5,14

~ 1L yuse+u4 / 25
- PD 4240+ 0.0
F pl -37.07 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT rnuiLrz/e+u4 /25
[Foue, PO 4216+ 0.0
p1 -35.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

- nuigr1e+u4 / 25
- PO 4214+ 0.0
Pl -35.2510.00

TP delay [ns]

TVC(c,b ch) (7, 5

aEALVR sb=e+u4/25
- pO 4239+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,15

T g/ye+u4 [ 25
- pO 42245 0.0
pl -35.82 + 0.00

TP delay [ns]



TVC(cbch) (7,6,0

4000

3000

2000

1000

A1z uioe+ud /25
o po 4225+ 0.0
p1 -36.63 + 0.00

TP delay [ns]

TVC(cbch) (7.6,4

4000

-1 nu,Qpse+ud / 25
k. pO 4204 0.0
Pl 3531+ 0.00

3000 - 7
2000 - ]
1000 C 7
1 1 "
50 100
TP delay [ns]
TVC(cbch) (7.6,8)
© 1 nuzpyze+u4 [ 25
4000 [ pD 4186+ 0.0
-33.93  0.00
3000 - 7
2000 - 7
wor C =29.48 [ps/chl ™, 7
. -

0

1
50 00

TP delay [ns]

TVC(Cbch) (7, 6 12

4000

3000

2000

1000

-1 nus.373e+04 [ 25
= po 4199+ 0.0
pl -32.35+ 0.00

[ C =30.91 [ps/ch]

. PR |
= 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

A 1L B1ae+U4 | 25
F.... po 4227+ 0.0
pL -36.31% 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

-1 nu 344e+04 [ 25
Fucse po 4222+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

- o re+U4 ] 25
e, pO 4221 0.0
pL -35.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

T nuiLpoze+ud [ 25
= pO 4233+ 0.0
pl -35.29+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

TVC(cbch) (7,6,2)

A~ 1 r44e+04 [ 25
po 4222+ 0.0
p1 -35.83 + 0.00

TP delay [ns]

TVC(cbch) (76,6

-1z 3obe+u4 / 25
pO 4236+ 0.0
p1 -36.16 + 0.00

10‘0
TP delay [ns]

TVC(eb,oh)=(7, 6, 10

- i 135e+04 1 25
po 4246+ 0.0
pL -35.77 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7.6,14

~ 1z 140e+04 / 25
pD 4246+ 0.0
pl -36.48+ 0.00

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,3

A~ 1 nuiLYzye+ud [ 25
= po 4238+ 0.0
pL -36.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

-1 U bbae+u4 [ 25
- pO 4250+ 0.0
p1 -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 6

T 51/e+u4/25
- pO 4234+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 6 15

Sz 17e+04 [ 25
pO 4238+ 0.0
-35.53+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0)

A7 nuiazoe+04 /25
4204+ 0.0
-34.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (77,4

- 1 nuiLa98e+u4 / 25
pO 4201+ 0.0
p1 -34.76+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

©nuiLyyse+u4 / 25
= po 4213+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (7,7,12

~rnuiLgooe+u4 / 25
= po 4220+ 0.0
pl -37.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,71

x- 1 L dsoe+ud | 25
e po 4217+ 0.0
pL -35.34+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 7,5

=1 nui buge+u4 [ 25
E pO 4212+ 0.0
pL -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

T nu ysbe+ud / 25
= po 4229+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (7,7,13

Tanan g /re+ud |25
= pO 4219+ 0.0
p1 -37.6 + 0.0

50 100

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,7,2)

- C = 28.59 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

A7 nun ssye+u4 / 25
_._ po 4216+ 0.0
[ pL -34.98  0.00

T rnun 1 59e+04 [ 25
pO 4229+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

T z1ne+04 /25
=, po 4236+ 0.0
- pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (7,7,14

1z 1o5e+04 / 25
- pD 4217+ 0.0
L p1 -36.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,3

AT 1L ovoe+ud [ 25
I s po 4221+ 0.0
pl -35.26 + 0.00

[ C =28.36 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (7 7,7

=1 nui bhye+u4 / 25
- pO 4232+ 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1)
Tonai//1e+u4 /25
= pO 4248+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

-1 nui ysye+ud [ 25
- po 4219+ 0.0
p1 -37.07 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

A1 yioe+ud /25
4160+ 0.0
p1 -35.93 + 0.00

TP delay

TVC(cbch) (7.8,4

[ns]

S i1 83e+04 /25
4178+ 0.0
-35.6+ 0.0

50 10'0
TP delay

TVC(cbch) (7 8,8

[ns]

- i, rz9e+04 [ 25
4194+ 0.0
pl -35.06 + 0.00

TP delay

TVC(cbch) (7,812

B pO

[ns]

- 1 nuizuzye+u4 [ 25
4206+ 0.0
pl -37.18+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,81)

JATeG

F... pO

- re+U4 125
4174+ 0.0
pL -35.46 + 0.00

TP delay

TVC(c,b ch) (7 8,5

[ns]

~1naiL, 744e+04 | 25
4185+ 0.0
pl -35.97 + 0.00

TP delay

TVC(c,b ch) (7 8,9

pO

[ns]
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